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DIGITAL EQUIPMENT CORPORATION AS-UMES NO
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GENERAL PROGRAM INFORMATION.

PROGR#M PURPOSE (ABSTRACT).

THIS DIAGNOSTIC IS A LOGIC TEST TO VERIFY THE OFERATION OF THE
DLV11=-E SERIAL LINE INTERFACE. THE PROGRAM AS SET INITIALLY
DEFAULTS TO ALL OPTIONS, EXCEPT PROGRAMMABLE BAUD RATE,
ENABLED AND A WRAP CABLE CONNECTED. THE USER CAN SELECTIVELY
ENABLE AND DISABLE TESTING OF THE OPTIONS BY ALTERING THE
CONTENTS OF ‘SUSER'. THE DIAGNOSTIC IS DESIGNED TO TEST AND
DETECT FAULTS TO THE LOGIC LEVEL (NOT TO THE C(HIP LEVEL).
THIS TEST OPERATES ON UP TO SIXTEEN(16) IDENTICALLY CONFIGURED
DLV11-E SERIAL LINE INTERFACES. THE DEFAULT ADDRESSES ARE:

175610 ~FIRST SERIAL LINE ADDRESS OF 16 CONSECUTIVE
SERIAL LINE DEVICES.

300 -~ VECTOR FOR FIRST OF 16 DEVICES.

THIS PROGRAM IS DESIGNED TO RUN ON ANY PDP-11 WITH 4K OF
MEMORY AND A DLV11-E (LSI-BUS) MODULE. IT CAN RUN UNDER XXDP,
APT, AND ACT MONITORS, AND ON PROCESSORS WITH NO HARDWARE
SWITCH REGISTER. A POWER FAILURE WILL CAUSE THE DIAG-

NOSTIC TO RESTART.

SYSTEM REQUIREMENTS.
HARDWARE REQUIREMENTS:

ANY POP-11 FAMILY PROCESSOR

4K MEMORY - MINIMUM

H315 - CABLE TURN AROUND PLUG (OR EQUIVALENT)
MODEM CABLE - BCO1v=X OR BCO5C-X

SOF TWARE REQUIREMENTS:

THIS DIAGNOSTIC IS DESIGNED TO RUN IN ANY OF THE
FOLLOWING WAYS:

STAND ALONE

WITH APT MONITOR

WITH ACT MONITOR

WITH XXDP MONITOR (CHAINABLE)

SEQ 0003




MAINDEC-2Z-CNDVA=-A MACY11 30(1046)

CNDVAA.F11

8340
8341
8342
8343
8344
8345
8346
8347
8348
8349
8350
8351

16~DEC-B2 15:12

E
16-DEC-82 15:13 PAGE 144

1.3

1.4

1.5

2.0
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RELATED DOCUMENTS AND STANDARDS.

MD=11=DZZMA

Rg?GNOSTIC ENGINEERING STANDARDS AND CONVENTIONS 175-003-009-02
ACT AUTOCAT-11-QZAUB
SYSMAC MD-11-DZQAC

DIAGNOSTIC HIERARCHY PREREQUISITES.

NO SPECIAL DIAGNOSTICS ARE REQUIRED TO RUN BEFORE THIS, B8UT
THE PROCESSOR, MEMORY, AND BUS ARE ASSUMMED TO BE FULLY
OPERATIONAL.

ASSUMPTJONS.

THIS DIAGNOSTIC ASSUMES THAT THE OPERATOR HAS INITIALIZED
LOCATION 'SUSWR' AND '$DEVM®' TO THE PROPER VALUES.
THE (H) JUMPER MUST BE REMOVED FROM ALL DLV1?-E'S UNDER TEST.

OPERATING INSTRUCTIONS.

LCADING AND STARTING PROCEDURES.

HESIETANDARD PROCEDURE FOR PDP-11 ABSOLUTE BINARY FORMATTED

THIS DIAGNOSTIC HAS ONLY ONE (1) STARTING ADDRESS. 200 FOR
START AND RESTART.

THE USER CAN SELECT A SPECIFIC TEST TO BE EXECUTED BY SETTING
SWITCH 8 IN THE SWITCH REGISTER AND THE TEST NUMBER (IN OCTAL)
IN THE LOWER BYTE. (NOTE: ALL TESTS PREVIOUS TO THE SELECTED
ONE ARE EXECUTED WITHOUT ITERATIONS.)

SPECIAL ENVIRONMENTS.
THIS DIAGNOSTIC FOLLOWS THE STANDARD PROCEDURE FOR RUNNING

UDER APT ,ACT XXDP MONITORS, AS DESCRIBED IN THEIR RESPECTIVE
PROCEDURES MANUAL AND SYSMAC PACKAGE.

SEQ 0004
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OPERATIONAL SWITCH SETTINGS

IF THE DIAGNOSTIC IS RUN ON A CPU WITHOUT A SWITCH
REGISTER THEN A SOFTWARE SWITCH REGISTER IS USED WHICH
ALLOWS THE USER THE SAME SWITCH OPTIONS AS THE
HARDWARE SWITCH REGISTER. IF THE HARDWARE SWITCH
REGISTER DOES_NOT EXIST OR IF ONE DOES AND IT CONTAINS
ALL ONES (177777) THEN THE SOFTWARE SWITCH REGISTER
(LOC. 176) 1S USED.

CONTROL :

THIS PROGRAM ALSO SUPPORTS THE DYNAMIC LOADING OF THE SOF TWARE
SWITCH REGISTER (LOC. 176) FROM THE TTY. THIS CAN BE
ACCOMPLISHED BY DOING THE FOLLOWING:

1) TYPE CONTROL G <*G>:; THIS WILL ALLOW THE TTY TO ENTER
gasaRA;NTO LOC. 176 AT SELECTED POINTS WITHIN THE

2) THE MACHINE WILL THEN TYPE:' SWR=XXXXXX NEW=' (XXXXXX IS
THE OCTAL CONTENTS OF THE SOFTWARE SWITCH REGISTER.)

3) AFTER THE "NEW=' HAS BEEN TYPED THEN THE OPERATOR CAN DO
ONE OF THE FOLLOWING AT THE TTY:

A) TYPE A NUMBER TO BE LOADED INTJ LOC. 176 FOLLOWED BY
A <CR>. (ONLY NUMBERS BETWEEN 0-7 WILL BE ACCEPTED).
LEADING ZEROS NEED NOT BE TYPED, AND IF MORE THAN 6
DIGITS ARE TYPED THE LAST 6 WILL BE USED. IF A <CR>
1S THE FIRST KEY DEPRESSED THE SOFTWARE  SWITCH
REGISTER CONTENTS WILL NOT BE CHANGED.

B) IF A CONTROL U <*U> IS _DEPRESSED THEN THE PROGRAM WTLL
SEND YOU BACK TO STEP 3.

C) IF THE INPUT CHARACTER IS NOT ONE OF THE C(HARACTERS
MENTIONED ABOVE THEN A QUESTION MARK (?) WILL BE TYPED
FOLLOWED BY A CARRAGE RETURN AND A LINE FEED
THEN PROCEED FROM STEP 3 (ERASING ALL PREVIOUS INPUT.}

DYNAMIC SWITCH REGISTER

BIT HALT ON ERROR

LOOP ON TEST

INHIBIT “RROR TYPEOUTS

(UNUSED)

INHIBIT ITERATIONS

BELL ON ERROR

LOOP ON ERROR

LOOP ON TEST IN SWR<?7:0>

TEST NUMBER TO LOOP ON (USED WITH BIT 8)

. —t b b b =l ——b
QOO —=MNIN SN

N

SEQ 0005
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8444
8445 2.4  PROGRAM OPTIONS.
8447 THIS PROGRAM WILL SUPPORT TESTING OF MULTIPLE DLV11-E'S. [T
8448 REQUIKES THE ADDRESS OF THE FIRST RCSR (STORED AT '$BASE') AND
8449 ITS INTERRUPT VECTOR (STORED AT *SVECT1'); AND WILL BE ABLE
8450 TO ADDRESS ANY DLV11-E STARTING AT THE SPECIFIED BASE ADDRESS
8451 UP TO 16 CONSECUTIVE DEVICES.
8452 EXAMPLES : $BASE: 175610
8453 SVECTi: 300
8455 THE PROGRAM WILL BE ABLE _TO TEST ANY DLVI1-E WITHIN THE
845 ADDRESS RANGE 175610 ==> 176000
8458 SBASE AND SVECT1 DEFAULT TO 175610 AND 300 RESPECTIVELY.
8459 THE_PROGRAM ASSOCIATES UNIT NUMBERS AS FOLLOWS:  (NUMBERS IN
8460 PARENTHESIS ARE OCTAL)
8461 UNIT#0 -- BASE ADDRESS STORED AT '$BASE"
8462 ASSOCIATED BASE VECTOR STORED AT *SVECT1
8463 UNIT#1 -~ BASE ADDRESS + (10)
8464 BASE VECTOR + (10)
8465 !
8466 i ypTO
8467 i
8468 UNITA15 == BASE ADDRESS + (170)
8469 BASE VECTOR + (170)
8471 LCCATION "$DEVM' IS USED AS A BiT MAP TO INDICATE WHICH UNIT
8are NUMBERS ARE PRESENT AND WILL BE TESTED.
8474 BIT 15 BIT1 BITO
875  eiceercesmescecssscmcesc——- neee
8476 TUNIT! 'UNIT ! UN]T!
8477 P15 i 7 R T
8478 decieleccceemcccemcseesiecmeocloeoonlll
8479
8480 A BIT MAP CAN BE ENTERED AT °*S$DEVM' PRIOR TO STARTING THE
8481 PROGRAM.
8482
8483 EXAMPLE :
8484 $BASE: 175610
8485 SVECTOR: 300
8486 SDEVM: 13
8487
8488 THE PROGRAM WILL TEST-
8489
8490 UNIT#0 175610 300
8491 UNIT#1 175620 310
8492 UNIT#3 175640 330
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SEQ 0007

OPTIONS

LOCATION SUSWR CONTAINS ALL THE USER SELECTABLE OPTIONS. THE
VALUES [N THIS WORD MUST CONFORM TO THE ACTUAL BOARD

CONF IGURATION.

THE DEFAULT VALUE OF $USWR IS AS FOLLOWS:

BIT POSITION ODEFINITION DEFAULT VALUE
0-3 #0F DATA BITS 10¢(8) = 8
4 PARITY ENABLED 0 = NO
5 EVEN ODD PARITY 0 = 0DD
6 COMMON SPEED 1 = YES
7 PROGRAMMABLE BAUD RATE 0 - NO
8-11 BAUD RATE OFFSET 05(8> 110 BAUD

(SEE FOLLOWING NOTE)

12 BREAK GENERATION ENABLED 1 = YES
13 CABLE TERMINATED (H315) 1 = YES
14 (~FR) AND (=FD) JUMPERS IN 1 = YES
15 (NOT DEF INED)

NOTE
THIS DIAGNOSTIC DOES NOT TEST THE PARITY LOGIC.

WHEN THE PROGRAMABLE BAUD RATE OPTION IS
ENABLED THE PROGRAMABLE BAUD RATE TEST
WILL EXIT WITH THE BAUD RATE SET TO THE
SELECTED VALUE. TO CHANGE THE DEFAULT
VALUE OF 110 BAUD REPLACE BITS <11:8
WITH THE OFFSET INDICATED IN THE TABLE
AT THE END Of THE PBR TEST.

DLVI1=-E INDIVIDUAL TEST RCQUIREMENTS
""""""""""""""""""""" TESTS™ROT EXECOTED ™ !F BIT =

APT TEST (BIT 1 OF SENV) B 0 6 7 2 B
PROGAMMABLE BAUD RATE (BIT 7 OF SUSWR) 132 1
BREAK GENERATION CIRCUIT (BIT 12 OF SUSWR) T2,T40
CABLE TERMINATED (BIT 13 OF $USWR) 115,.116,117,720,121 1
}%2.723.9Ants OF 734, 1
o]
(=FR) & (=FD) JUMPERS IN (BIT 14 OF SUSWR) ;33T6.T16,T17,T20.T22. 1

ALL OTHER TESTS WILL RUN REGARDLESS OF ANY BIT SETTINGS.

~=
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2.5 EXECUTION TIMES.

EXECUT ION TIMES ARE FOR AN LSI=11 PROCESSOR WITH ALL OPTIONS
g?GBgEBD0~ THE DLV11-E (EXECPT FOR PROGRAMMABLE BAUD RATE), AT

FIRST PASS- 90 SECONDS
ADDITIONAL PASSES 95 SECONDS
ADDITIONAL DEVICES 95 SECONDS

THE TEST TIME IS BAUD RATE DEPENDANT;  HIGHER BAUD GIVES
SHORTER PASS TIMES.

SEQ 0008

(mix 1
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ERROR INFORMATION.

cRROR REPORTING PROCEDURE.

SINCE THIS DIAGNOSTIC WAS DESIGNED TO FIT IN 4=K OF MEMCRY THE
EgRgg FalESBgT IS VERY BRIEF. THE FORMAT OF THE ERROR TYPEOUT

TEST#_____ ,ERROR#
WHERE ALL VALUES TYPED ARE OCTAL.

THE ADDRESS 4ND VECTOR REFER TO THE FAILING DLV11-E.

FOR FURTHER INFORMATION THE LISTING MUST BE CONSULTED.

BITS 15,13,10 AND 9 OF THE SWITCH REGISTER CONTROL THE
SEQUENCE "OF "EVENTS AFTER AN ERROR IS CAUGHT.

,PC= +ADDRESS=

BIT 15 = CAUSES THE PROGRAM TO HALT [N THE ERROR
gggzégg. CONTINUEING THE PROGRAM CAUSES IT TO

BIT 13 - DISABLES THE PRINTING OF THE ERROR MESSAGE.
BIT 10 - CAUSES THE BELL TO RING ON ERROR.

BIT 9 - CAUSES THE DIAGNOSTIC TO LOOP FROM BEGINNING
OF TEST TO ERROR.

THE ERROR ROUTINE SUPPORTS THE CONTROL G FUNCTION.
ERROR HALTS.

THE ONLY HALT IN THIS DIAGNOSTIC IS IN YHE ERROR ROUTINE, AND
IS EXECUTED ONLY IF BIT 15 OF THE SWITCH REGISTER IS A ONE
WHEN AN ERROR OCCURS.

PERFCRMANCE AND PROGRESS REPORTS.

PERFORMANCE REPORTS.

AS EACH DEVICE COMPLETES ONE PASS OF THE DIAGNOSTIC THE
FOLLOWING WILL BE TYPED:
CSR:_____ VECTOR:_____,ERRORS:_____
WHERE.*CSR:_____' IS THE DEVICE CSR UNDER TEST
'VECTORT-Z* IS THE ASSOCIATED VECTOR
AND  *ERRORS: ' IS THE TOTAL NUMBER OF ERRORS ON THIS DEVICE
ON THIS PASS.

NOTE

SEQ 0009

™ ®
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gg%g THIS S TYPED AFTER THE DEVICE HAS COMPLETED ITS PASS.
8626 AFTER ALL DEVICES HAVE BEEN EXERCISED AN END PASS STATEMENT IS
8627 TYPED:

8628 “'ENDPASSH G

[ 4
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SEQ 0011

5.0 DEVICE INFORMATION TABLES.

15 1% 13 12 11 10 9 8 4 ) 5 4 3 2 1 0

PRARARAANA A RN N AR RO AR AN AR AN NAAR AR AARAAANRNRANN AN AN RARAANNNAOEA NGNS AANOTRAS

RCSR!DATA!RING!CLR !'CAR !'RCVR'REC ! !  !RCVR!'RCVR!DATA!  !SEC !REQ !DTR ! !
iINT 1 ISENDIDET iACT iREC i i  iDONEIIE {IE !  IXMITiSEND! ¢
tttttittiititt"tt*it*tttttittt*ttttQiitttiit.ii*"iit"IQ'.Q..Q"Q"""."QQQQ.

RBUFIERROIOR IFR 1P 1t b RECEIVED DATA BUFFER s

PERR 'ERR 'ERR | ¢ & & i
tttt*it*ttt**ttit*fii*tiiiiittitttttttitQ*ﬁit.'ttt'iit*'*'i'ﬁ*.t"*ti'i""i""'

TCSR! PROGRAMMABLE BAUD 'PBR ! ! !  LXMITIMIT: 1 1 !MAIN!  BREA!
i RATE SELECT  iENaBi i1 i1 impy IJE ! 1
t"‘t*tt*tﬁ*t**"*t'ttti***titttttitttt*t*t*tt**iﬁtiiitﬁtttt'ititiitititi.'ii'..'

TBUFE 1L L TRANSMITTER DATA BUFFER :

| | | | | | 1
(T2 2 2222323322222 23222 2122223022322 8222022002000 220000 dRaRdRRtlaRlltdRillialdlld )

NOTE

BLANK BOXES INDICATE UNUSED AND RESERVED
BIT POSITIONS. SEE THE LISTING FOR AN
EXPLANATION OF THE BITS.

C
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SUMMARY OF TESTS AND SPECIAL SUBROUTINES.

THIS TEST VERIFIES THAT THE ADDRESS AS PLACED IN THE
HARDWARE ~ P-TABLE TO BE CORRECT AND THE DLVI1-E
RESPONDS TO THAT ADDRESS SPACE.

THE FOLLOWING 8 TESTS TEST ALL °'READ WRITE' BITS

TEST 3 MAINT - TCSR2 SET, CLEAR, RESET

TEST & XMITIE = TCSR6 SET, CLEAR, RESET

TEST 5 DTR - RCSR1 SET, CLEAR

NOTE
RESET DOES NOT CLEAR THIS BIT. WE CANNOT TEST
FOR AN INITIAL CONDITION AS THIS BIT IS

UNDEFINED UPON POWER UP AND INIT DOESN'T
AFFECT IT.

TEST 6 REQSEND - RCSR2 SET, CLEAR, RESET

THIS TEST ASSUMES THAT JUMPER FR [S IN.

TEST 7 SECXMIT - RCSR3 SET, CLEAR, RESET

TEST 10 DATAIE ~ RCSRS5 SET, CLEAR, RESET

TEST 11 RCVRIE - RCSR6 SET, CLEAR, RESET

SEQ 0012
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THE FOLLOWING & TESTS VERIFY THAT RESET (INIT) INITIALIZES
READ ONLY BITS.

TEST 12 RCVRDONE = RCSR 7 = IS CLEARED BY INIT

THE FOLLOWING & TESTS VERIFY THAT THE EIA SIGNALS (AN BE
TRANSMITTED AND RECEIVED THROUGH THE CABLE.

TEST 16 CARDET SETS AND CLEARS AS DTR SETS AND CLEARS

DATAINT IS CLEARED AFTER READING RCSR
NOTE

ngsls TIED TO BGTH CARDET AND CLRSEND BY THE

TEST 23 DATAINT SETS WHEN RING SETS AND THAT DATAINT

DOES NOT SET WHEN RING CLEARS

TEST 24 DATAINT SETS WHEN SECREC CHANGES STATE

SEQ 0014
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TEST 25 XMIT RDY = TCSR 7 - CLEARS WHEN TBUF IS LOADED
WITH A CHARACTER AND THAT IT SETS WITHIN A
REASONABLE AMOUNT OF TIME.

TEST 26 OUTPUTTING A CHAR FROM TBUF (WITH MAINT SET)
RESULTS IN  RCVRDONE _ SETTING WITHIN A
REASONABLE AMOUNT OF TIME AND THAT RESET
CLEARS THE BIT.

TEST 27 RCVRDONE [S CLEARED BY READING RBUF

TEST 30 RCVRACT = RCSR 11 - SETS WHEN A START BIT IS
gEggIVED AND CLEARS WHEN RCVRDONE - RCSR 7 -

TEST 31 OVERRUN BIT =~ RBUF 14

AVAILABLE A COMPARISON WILL BE MADE TO SEE IF
NEW TIME IS LESS THAN PREVIOUS.

TEST 33 TRANSMITTER INTERRUPT LOGIC TEST
LOGICALLLY THIS IS & SEPARATE TESTS
A) DOES TRANSMITTER INTERRUPT LOGIC WORK
B) AT PRIORITY OF O
C) AND ONLY ONCE
D) BUT NOT WITH INTERRUPT ENABLE CLEAR

TEST 34 RECEIVER INTERRUPT LOGIC TEST THIS TEST COVERS ALL
OF THE RECEIVER SIDE OF THE INTERRUPT LOGIC, BOTH

DATASET AND CHARACTER MODES.

TEST 35 TEST ACTUAL DATA  TRANSFERED  NON-INTERRUPT

MAINTENANCE BIT SET

SEQ 0016



MAINDEC~Z2~CNDVA=A MACY11 30(1046)

CNDVAA.F11
8833

16-DEC-82 15:12

E
16-DEC-82 15:13 PAGE 153

TEST 36 TEST DATA THROUGH CABLE

MODE.

TEST 40 TEST BREAK GENERATION LOGIC TRANSMIT KNOWN (HAR
WITH BREAK SET AND COMPARE RECEIVED WITH 0.

TEST 41 NOT A TEST - SEND BACK TO LOOP

NOTE

FOR ALL OF THE FOLLOWING ROUTINES THE USE
OF (R5) IS PART OF THE LINKAGE MECHANISM
BETWEEN THE CALLER AND THE CALLED.

ROUTINE : TIMER

THIS ROUTINE IS USED TO TEST THE STATUS OF
ANY BIT IN ANY REGISTER.

INPUTS:
HOWLONG THE MAXIMUM AMOUNT OF TIME 710
SPEND IN THIS ROUTINE.
WHICHBIT A MASK WITH THE BIT(S) SET THAT
ARE TO BE CHECKED
REG A POINTER TO THE REGISTER 710 BE
CHECKED
SETCLR THE DESIRED RESULTS == EJTHER SET
OR CLEAR
OUTPUT:

THE °C*' BIT IS SET TO INDICATE AN ERROR BUT IT
IS TESTED BY THE IF.ERROR STATEMENT,

SEQ 0017
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DATLNG

THIS ROUTINE SETS UP A MASK FOR DATA, WITH -

NOTHING IS PASSED TO THIS ROUTINE BUT GLOBAL
INFORMATION IS ASSUMED TO EXIST:

SUSWR-= THE WORD FOR SOF TWARE PARAMETERS
DATA== A MASK FOR THE LOCATION OF THE OCTAL
NUMBER OF DATA BITS

OUTPYT====

ROUTINE :

SERVICE

ROUTINE:

MASK== A MASK OF BINARY ZEROS RIGHT=JUSTIFIED
THE NUMBER OF WHICH IS DEFINED IN SUSWR WORD.

THIS ROUTINE IS USED TO DELAY EXECUTION OF THE
MAIN PROGRAM FOR A SPECIFIED AMOUNT OF TIME.
THIS IS ACCOMPLISHED BY  INCREMENTING A
REGISTER UP TO A LIMIT. THE INNER LOOP IS SET
TO APPROXIMATE 1 MILLI SEC.

ROUTINE: [INTSRV

THIS GLOBAL ROUTINE DOES NOTHING BUT IMCREMENT

*INTFLAG' EACH TIME IT IS CALLED. IT ASSUMES
THAT THE MAIN CALLING ROUTINE WILL KNOW WHAT
TO LOOK FOR.

CYCLE

THIS ROUTINE CAUSES ADRS TO POINT TO THE
ADDRESS Of DLV11-E UNDER TEST, ADRS ¢2 TO
POINT TO THE VECTOR OF THE DLV11-E UNDER TEST.
é;SKgEEPS TRACK OF THE CURRENT DEVICE AND BIT

SEQ 0018
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.TITLE MAINDEC=ZZ-CNDVA=-A
s*COPYRIGHT (() 1982
;«DIGITAL EQUiPMENT CORP.
*MAYNARD MASS. 01754

*PROGRAH BY ODES CHOATE

*THIS PROGRAM WAS ASSEMBLED USING THE PDP-11 MAINDEC SYSMA(
tPACKAGE (MAINDEC-11-DZQAC-C3), JAN 19, 1977.

.SBTTL OPERATIONAL SWITCH SETTINGS
* %
SWITCH USE

15 HALT ON ERROR
& LOOP ON TEST
3 INHIBIT ERROR TYPEOUTS
1 INHIBIT ITERATIONS
0 BELL ON cRROR
9 LOOP ON ERROR
8 LOOP ON TEST IN SWR<?7:0>

.SBTTL BASIC DEFINITIONS

:*INITIAL ADDRESS OFf THE STACK POINTER wt+ 1100 #u+
STACK= 1100

T T A Y YR YR YR T
» % % % % % %88

LEQUIV EMT,ERROR ::BASIC DEFINITION OF ERROR CALL
.EQUIV 10T.SCOPE ::BASIC DEFINITION OF SCOPE CALL
;*MISCELLANEOUS DEFINITIONS

HT= 11 ::CODE FOR HORIZONTAL TAB

LF= 12 ::CODE FOR LINE FEED

CR= 15 :3CODE FOR CARRIAGE RETURN

CRLF= 200 ::CODE FOR CARRIAGE RETURN-LINE FEED

PS= 177776 : :PROCESSOR STATUS WORD

.EQUIV PS,PSW

STKLMT= 177774 ::STACK LIMIT REGISTER

PIRQ= 177772 : SPROGRAM INTERRUPT REGUEST REGISTER

DSWR= 177570 ; ;HARDWARE SWITCH REGISTER

DDISP= 177570 :HARDWARE DISPLAY REGISTER

TETLY THE FOLLOWING ODT START ADDRESS FOR SBC 11/21 IS ADDED

0DTST= 170000

:*GENERAL PURPOSE REGISTER DEFINITIONS

RO= %0 < :GENERAL REGISTER

R1= 21 . sGENERAL REGISTER

R2= 2 . :GENERAL REGISTER

R3= 13 - :GENERAL REGISTER

Ré4= X4 : sGENERAL REGISTER

RS= {] - :GENERAL REGISTER

R6= 16 + SGENERAL REGISTER

R7= 74 :;GENERAL REGISTER

SP= L6 ::STACK POINTER

PC= L7 : ;PROGRAM COUNTER

SEQ 0019
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CNDVAA.F11 16=-DEC-82 15:12 BASIC DEFINITICNS SEQ 0020
1) ;*PRIORITY LEVEL DEFINITIONS
(1) 000000 = ::PRIORITY LEVEL 0
(1) 000040 PR1= ::PRIORITY LEVEL 1
(1) 000100 PR?= ::PRIORITY LEVEL 2
(1) 000140 PR3= ;¢:PRIORITY LEVEL 3
(1 000200 PRé4= :PRIORITY LEVEL 4
1) 000240 PRS= ::PRIORITY LEVEL §
(N 000300 PR6= ;:PRIORITY LEVEL 6
g}; 000340 PR7= ;:PRIORITY LEVEL 7
(1N ;' 'SWITCH REGISTER'® SWITCH DEFINITIONS
1) 100000 SW15= 00000
N 040000 SWlé=
(1 020000 SW13=
(1) 010000 SWies
(1) 004090 Wil= &
(1) 002000 SWwi0= 2000
(1) 001000 Sw09= 1000
(1) 000400 SWw08= 400
(1) 000200 sWw07= 200
(1) 000100 sWw06= 100
(1) 000040 SW0S= 40
) 000020 SWwié= 20
M 000010 sw03= 10
(1) 000004 SWi2= 4
(1 000002 Swo1= 2
1 000001 SWwoo= 1
(1) LEQUIV  SW09,SW9
(1) LEQUIV SW08,Sw8
(1) LEQUIV SW07,SWw?7
(1) LEQUIV  SW06,SWé
(1) LEQUIV SW0S5,SwS
(1) LEQUIV SW04,SWé
(1) .EQUIV SWO03,Sw3
1) JEQUIV SW02,Sw?
) LEQUIV SWO01,Sw1
g}; EQUlv SW00,Sw0
1) :*DATA BIT DEFINITIONS (BITOO TO BIT15)
(1) 100000 BIT15= 100000
(1 040000 BIT14= 40000
) 020000 8IT13= 20000
(1 010000 BIT12= 10000
(1) 004000 BIT11= 4000
(1) 002000 BIT10= 2000
(1) 001000 BIT09= 1000
(1) 000400 81108= 400
(1) 000200 81107= 200
(1) 000100 8I1T106= 100
(1) 000040 BITOS= 40
(1) 000020 8IT04= 20
(1) 000010 BIT03= 10
(1) 000004 BI102= 4
(1) 000002 BIT01= 2
(1) 000001 BITO0= 1
(1) .EQUIV BIT09.8IT9
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000004
000010
000014
000014
000014
000020
000024
000030
000034
000060
000064

000100
000140
000240
000004
000001
000002
000003
000001
000002
000003
000002
000004
175610

177777
000000

100000
040000
020000
010000
004000
002000

000200
000100
000040

MACY11 30(1046)
16~DEC~82 15:12 B

16-DE(-82
ASIC DEFIN
LEQUlV B8IT
.EQUIV BIT
.EQUIV BIT
.EQUIV BIT
.eQUIV BIT
.EQUlV BIT
LEQUIV BIT
EQUlV BIT
.EQUIV BIT
;=BASIC *'CP
ERRVEC= &
RESVEC= 10
TBITVEC=14
TRTVEC= 14
BPTVEC= 14
IOTVEC= 20
PWRVE(C= 24
EMTVEC= 30
TRAPVE(C=34
TKVEC= 60
TPVEC= 64
wedder  THE
LKVEC= 100
BRKVEC= 140

PIRQVE(=240

FMAALAL AL LA

stk ENLR

I_2
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O =2 PN SN0 OO

T % % % % & S8 % 8

U'* TRAP VECTOR ADDRESSES
::TIME OUT AND OTHER ERRORS
i ;RESERVED AND ILLEGAL INSTRUCTIONS
:: TRACE TRAP
: :BREAKPOINT TRAP (BPT)
;3 INPUT/OUTPUT TRAP (10T) ##SCOPE#+
: POWER FAIL
: ZEMULATOR TRAP (EMT) #+ERROR+*
2:"TRAP'" TRAP
::TTY KEYBOARD VECTOR
::TTY_PRINTER VECTOR

FOLLOWING BREAK VECTOR AND LINE CLOCK VECTOR ARE INCLUDED

; sLINE CLOCK VECTOR

: ;BREAK VECTOR
: :PROGRAM INTERRUPT REQUEST VECTOR
ILLMEM= &
ADRS=  R1
G00D= R2
BAD= R3
REGISTER=R1
BIT= R2
FUNCT= R3
LEAD= R?

FOLLOW= R4
DLADDR= 175610

; THE FOLLOWING DEFINITIONS APPLY TO THE GLOBAL SUBS
CLR= 0

1 2233332230032 200002 i 0030 2302 dfAiRRR2RR R0 R2dR 2Dl

s RCSR REGISTER BIT NAMES

(1232423222322 2223020d02202 2002030003020 2R0RRR0RRRR00RRd0 2]

DATAINT= 8IT15 : DATASET INTERRUPT

RING= BIT14 : RINGING SIGNAL INDICATOR
CLRSEND= BIT13 : CLEAR TO SEND FROM DATASET
CARDET= BIT12 : CARRIER DETECY

RCVRACT= BIT11 s RECEIVER ACTIVE INDICATOR
SECRE(C= BIT10 ; SECONDARY RECEIVE

¢ UNUSED BIT09

: UNUSED BITO8

RCVRDONE = BIT07 s RECEIVER DONE

RCVRIE= BIT06 s RECEIVER INTERRUPY ENABLE
DATAIE= BITOS . DATASET INTERRUPT ENABLE

SEQ 0021
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8958
8959
8960
8961
8962
8963
8964
8965
8966
8967
8968
8969
8970
8971
8972
8973
8974
8975
8976
8977
8978
8979
8980
8981
8982
8983
8984
8985
8986
8987

000010
000004
000002

¢

100000
040000
020000
010000

000200
000100
000040
000020
000010
000004
000002
000001

004000

000200
000100

000004
000001

s UNUSED
SECXMIT=
REQSEND=
DTR=

¢ UNUSED

ERROR=
ORERR=
FRERR=
PERR=

; UNUSED
: UNUSED
; UNUSED
: UNUSED
RDATA7=
RDATAG=
RDATAS=
RDATA4L=
RDATA3=
RDATA2=
RDATA1=
RDATAQ=

PBAUD 3=
PBAUDZ=
PBAUD1=
PBAUDO=
PBAUDSET=

s UNUSED
s UNUSED
s UNUSED
XMITRDY=
XMITIE=
s UNUSED
s UNUSED
s UNUSED
MAINT=

« UNUSED
BREAK=

+ UNUSED

J_ 2
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BASIC DEFINITIONS
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BIT1S

Ve Ba Ve Ve e Ve

; SECONDARY TRANSMIT DATA
; REQUEST TO SEND

DATA TERMINAL READY

:;ttttttttitttitifii*tttt*ttttittttttttttiti*tﬁtttii*tttttttttttt

: RBUF REGISTER BIT NAMES

::tﬁ*ttttt*ttittt*if*iﬁiiii*i'Q'*QQttiittﬁtﬁt'ttttti*tiﬁ*ﬁ**tttt*

ERROR INDICATOR
OVERRUN ERROR
FRAMING ERROR
PARITY ERROR

) RECEIVED DATA BITS

L A4 1 2314420340 202000230RR002R2d320022230f 2222282000232 R0d2202230022002201

s TCSR REGISTER BIT NAMES

::Q'....QQ"'..*Q"Q**'Q'tttitttt*t'Qtﬁtt*i'tttt!ﬁQ'*tt*t'it*ittt

\
\  PROGRAMMABLE BAUD
/  RATE BITS

/
ENABLE SETTING OF
PROGRAMMABLE BAUDE RATE

TRANSMITTER READY
TRANSMITTER INTERRUPT ENABLE

MAINTENANCE SET BIT
SEND BREAK (CONTINUOUS SPACE)

stttk ANARARAARAAASECRCRRNSERRAAROAAAARARAANAARNANARARARONASOROONTS

s TBUF REGISTER BIT NAMES

;:ttt*itt'ﬁtitttttﬁtt'it**!'ﬁ't'*tt'.Qttt'ﬁﬁﬁi'*tttttttt'tttt'!tt

SEQ 0022

~x
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9011
9012
9013
9014
9015
9016
9017
9018
9019
9020
9021
9022
9023
9024
9025
9026
9027
9028
9029
9030
9031
9032
9033
9034

9045
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0

000174
000176

000200

000046
000052

K
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16-DEC-82 15:12 BASIC DEFINITIONS

: UNUSED BIT14

+ UNUSED BIT13

: UNUSED BIT12

« UNUSED BITI

+ UNUSED BIT10

s UNUSED BITO9

: UNUSED BIT08
000200 TDATA7= BITO7 s\
000100 TDATAG= BITO6 .
000040 TDATAS= BITOS -
000020 TDATA4L= BIT04 : \ TRANSMITTER DATA BUFFER
000010 TDATA3= BITO3 s /!
000004 TDATAZ2= BITO2 ;!
000002 TDATAl= BiT01 .
000001 TDATAO= BITOO s/

000017
000020
000040
000100
000200

007400
010000
020000
040000

000000

000174
000000
000000

000137

000204
000046
012446
000052
000000
000204
001000

::*tttttt*ttti***‘t*ttt**t**t*tt**ttttttﬁ*ttﬁ*ttt**tttititi**tt*t

: FLAG BITS TO BE USE OR CLEARED IN $USWR.

DATA = 17
PARITY = 20
EVENODD = 40
COMSPD = 100
PBR = 200

: BAUDE MUST BE ON THE UPPER
: BYTE BOUNDRY70F0$USUR.--4 BITS

BAUD = 40

BRK = 10000
CABLE = 20000
FRFD = 40000

e 1332122222323 323222022002 22323223RR2223 220200002202 3300222232034

"SBTTL TRAP CATCHER

.=0
;*ALL UNUSED LOCATIONS FROM 4 =~ 776 CONTAIN A ‘' +2, HALT"
s*SEQUENCE TO CATCH ILLEGAL TRAPS AND INTERRUPTS
:*LOCAT]0§194C0NTAINS O TO CATCH IMPROPERLY LOADED VECTORS

DISPREG: .WORD 0 :;SOFTWARE DISPLAY REGISTER
SWREG: .WORD O ;. SOFTWARE SWITCH REGISTER
.SBTTL STARTING ADDRESS(ES)

001336 JMP O#START ;;JUMP TO STARTING ADDRESS OF PROGRAM

.SBTTL ACT11 HOOKS

4333232332232 3332322202002 R SRR RRRRARARRRR222RR22ARR0RRD 1]

*HOOKS REQUIRED BY ACT11
$SVP(C=

46c ] :SAVE PC

igggAD ::1)SET LOC.46 TO ADDRESS OF SENDAD IN .SEOP
WORD O ;:2)SET LOC.52 TO 2ERO

“=$SVPC **"RESTORE PC

.=1000

SEQ 0023
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CNDVAA.FI1 16-DEC~82 15:12 APT PARAMETER BLOCK SEQ 0024
9??? .SBTTL APT PARAMETER BLOCK

(2) T T L e e e AT T

1) ;SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT

(2) R LAt L R I L LR L LT R T TR R R T AT Y

(1) 001000 $X=.  ;;SAVE CURRENT LOCATION

(1) 000024 .=24 :;SET POWER FAIL TO POINT TO START OF PROGRAM

(1) 000024 000200 200 ;:FOR APT START UP

(1) 000044 =44 ;;POINT TO APT INDIRECT ADDRESS PNTR,

(1) 000044 001000 $SAPTHDR ;;POINT TO APT HEADER BLOCK

(1) 001000 .=.8X  ;RESET LOCATION COUNTER

(2) R R T T L T L T T T T T T T T T T

(1) :SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT=-PDP11 DJAGNOSTIC

E}; s INTERFACE SPEC.

(1) 001000 $APTHD:

(1) 001000 000000 $HIBTS: .WORD O ;. TWO HIGH BITS OF 18 BIT MAILBOX ADDR.

(1) 001002 001174 $MBADR: .WORD  SMAIL . ;ADDRESS OF APT MAILBOX (BITS 0-15)

(1) 0C1004 000005 $TSTM:  _WORD 5 ::RUN TIM OF LONGEST TEST

(1) 001006 000055 $PASTM: _WORD 45, ;:RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)
E}; 0071010 000036 SUNITM: .WORD  30. ;ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT

001012 000030 .WORD  SETEND-$MAIL/Z2 ;;LENGTH MAILBOX~-ETABLE (WORDS)

~x
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001100
000000
000
000
000000

000000
000000

0
17760; 000377

000000
000000
000000
000000
000000
000000

COMMON TAGS
.SBTTL COMMON TAGS

':tttttttttttttttttt'itttt*tt*i**t.tttQtt'.'*'Q""'Q.."'."".'

;*THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
;*USED IN THE PROGRAM.

Mm_2
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.=1100
$CMTAG: WORD O ::START OF COMMON TAGS
$TSTNM: .BYTE 0 2;CONTAINS THE TEST NUMBER
$ERFLG: .BYTE 0 ;;CONTAINS ERROR FLAG
$ICNT: LWORD 0 ;s CONTAINS SUBTEST ITERATION COUNT
$LPADR: .WORD 0O ;;CONTAINS SCOPE LOOP ADDRESS
SLPERR: .WORD O s CONTAINS SCOPE RETURN FOR ERRORS
$ERTTL: .WORD O ; ;CONTAINS TOTAL ERRORS DETECTED
$ITEMB: .BYTE O 2 ;CONTAINS ITEM CONTROL BYTE
$ERMAX: .BYTE 1 ;s CONTAINS MAX. ERRORS PER TEST
S$ERRPC: .WORD O ;s CONTAINS PC OF LAST ERROR INSTRUCTION
$GDADR: .WORD 0 ;;CONTAINS ADDRESS OF 'GOOD' DATA
$BDADR: .WORD 0 : ;CONTAINS ADDRESS OF 'BAD' DATA
$GDDAT: .WORD O + s CONTAINS *GOOD' DATA
$BDDAT: .WORD O :;CONTAINS °BAD* DATA

.Sgsg 8 s ;RESERVED=-=NOT TO BE USED
$AUTOB: .BYTE 0 ;;AUTOMATIC MODE INDICATOR
$INTAG: .SS;E 8 s - INTERRUPT MODE INDICATOR
SWR: .WORD  DSWR : ;ADDRESS OF SWITCH REGISTER
DISPLAY: .WORD DDISP ;;ADDRESS OF DISPLAY REGISTER

$TKS: 177560
$TKB: 177562
$TPS: 177564
$TPB: 177566

:3TTY KBD STATUS
;s TTY KBD BUFFER
::TTY PRINTER STATUS REG. ADDRESS
;:TTY PRINTER BUFFER REG. ADDRESS

$NULL: .BYTE O s CONTAINS NULL CHARACTER FOR FILLS
$FILLS: .BYTE 2

:;CONTAINS # OF FILLER CHARACTERS REQUIRED \
SFILLC: .BYTE 12 :: INSERT FILL CHARS. AFTER A °*‘LINE_FEED''
$TPFLG: .BYTE 0 ::"'TERMINAL AVAILABLE'' FLAG (BIT<07>=0=YES)
$TIMES: O ; sMAX. NUMBER OF ITERATIONS
$ESCAPE:0 : sESCAPE ON ERROR ADDRESS

$BELL: .ASCIZ <207><377><377> ::CODE FOR BELL
$QUES: .ASCI1 7/?/ :;QUESTION MARK
$CRLF: LJASCII <15 :.CARRIAGE RETURN
$LF: LASCIZ 12> :;LINE FEED

1233323823233 32022003200830d03RRR R R 0dRt0 R0 2000 RdRRRdRdn )

“SBTTL APT MAILBOX-ETABLE

::**ttt**ttt*tttt*tt*tttt*ttttittittti*itttttttitttttttitttittttt

.EVEN
SMAIL: : :APT MAILBOX
$MSGTY: .WORD  AMSGTY ;:MESSAGE TYPE CODE
$FATAL: .WORD  AFATAL ;;FATAL ERROR NUMBER
$TESTN: .WORD  ATESTN ;;TEST NUMBER
$PASS: .WORD  APASS  ;;PASS COUNT

ADEVCT ;:DEVICE COUNT

$DEVCT: .WORD
SUNIT: L.WORD  AUNIT  ;;1/0 UNIT NUMBER

5EQ 0025
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CNDVAA. P11 16-DEC~82 15:12 APT MAILBOX-ETABLE SFQ 0026
(2) 001210 000000 $MSGAD: .WORD  AMSGAD ;;MESSAGE ADDRESS
(2) 001212 000000 $MSGLG: .WORD  AMSGLG ;;MESSAGE LENGTH
(2) 001214 SETABLE: ;;APT ENVIRONMENT TABLE
(2) 001214 000 $ENV:  .BYTE  AENV ; ;ENVIRCNMENT BYTE
(2) 001215 000 SENVM: _BYTE  AENVM
(2) : . ENVIRONMENT MODE BITS
(2) 001216 000000 $SWREG: .WORD  ASWREG ;;APT SWITCH REGISTER
(2) 001220 071110 $USWR: .WORD  AUSWR  ;;USER SWITCHES
(2) 001222 000000 $CPUOP: .WORD  ACPUOP ;.CPU TYPE,OPTIONS
(2) i BITS 15-11=CPU TYPE
(2) i 11/04=01,11/05=02,11/20=03,11/40=04,11/45=05
(2) o 11/70=06,PDQ=07,0=10
(2) ) BIT 10=REAL TIME CLOCK
(23 i BIT 9=FLOATING POINT PROCESSOR
(2) :* BIT B=MEMORY MANAGEMENT
(2) 001224 000 $MAMS1: .BYTE  AMAMS1 ; HIGH ADDRESS,M.S. BYTE
(2) 001225 000 $MTYP1: .BYTE AMTYP1 ;;MEM. TYPE ,BLKM
(2) i MEM.TYPE BYTE == (HIGH BYTE)
(2} A 900 NSEC CORE=001
(2) o 300 NSEC BIPOLAR=002
(2) H 500 NSEC M0S=003
(2> 001226 000000 $MADR?: .WORD  AMADR1 ;;HIGH ADDRESS,BLK#1
(2) i MEM.LAST ADDR.=3 BYTES,THIS WORD AND LOW OF '‘TYPE'' ABOVE
(2) 001230 000 $MAMS2: .BYTE  AMAMS2 ;;HIGH ADDRESS,M.S. BYTE
(2) 0012311 000 $MTYP2: .BYTE  AMTYP2 ;:MEM.TYPE,BLK¥2
(2) 001232 000000 $MADR2: .WORD  AMADRZ2 ;;MEM.LAST ADDRESS,BLK#?2
(2) 001234 000 $MAMS3: .BYTE  AMAMS3 ; HIGH ADDRESS ,M.S.BYTE
(2) 001235 000 $MTYP3: .BYTE  AMTYP3 ;;MEM_ TYPE,BLKA3
(2) 001236 000000 $MADR3: .WORD  AMADR3 ;;MEM.LAST ADDRESS,BLK#3
(2) 001240 000 $MAMSL: BYTE  AMAMSSG  ; "HIGH ADDRESS .M.S.BYTE
(2) 001241 000 SMTYP4: _BYTE  AMTYP4  ;;MEM,TYPE,BLK#S
(2) 001242 000000 $MADR4: .WORD  AMADR4  ;;MEM.LAST ADDRESS,BLK#é
(2) 001244 000300 $VECT1: .WORD AVECT1 ;:INTERRUPT VECTORA#1,BUS PRIORITY#1
(2) 001246 000000 SVECT2: .WORD  AVECTZ ;;INTERRUPT VECTOR#Z2BUS PRIORITY#2
(2) 001250 175610 $BASE: .WORD  ABASE
(2) ; ;BASE ADDRESS OF EQUIPMENT UNDER TEST
(2) 001252 000001 $DEVM: _WORD ADEVM  ;;DEVICE MAP
(2) 001254 SETEND:
(2) CMEXIT
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CNDVAA.F11 16-DEC-82 15:12 ERROR POINTER TABLE SEQ 0027

g}; .SBTTL ERROR POINTER TABLE
(1) s*THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.
(1) :*THE INFORMATION IS OBTAINED BY USING THE INDEX NUMBER FOUND IN
A1) :*LOCATION $I17EMB. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT.
(1) s*NOTE1: IF SITEMB IS O THE ONLY PERTINENT DATA IS (SERRP(C).
2}; s*NOTEZ2: EACH ITEM IN THE TABLE CONTAINS 4 POINTERS EXPLAINED AS FOLLOWS:
1) A EM ;;POINTS TO THE ERROR MESSAGE
1) i DH ;.POINTS TO THE DATA HEADER
(1) it DT :;POINTS TO THE DATA
g}; H DF :;POINTS TO THE DATA FORMAT
(1)
(1) 001254 SERRTB
9050 H GLOBAL DATA
9051 001254 175610 OLADD: DLADDR
9052 001256 000300 DLVEC: 300
9053 001260 175610 RCSR: DLADDR + O
9054 001262 175612 RBUF:  DLADDR + 2
9055 001264 175614 TCSR:  DLADDR + 4
9056 001266 175615 TCSRHI: DLADDR + 5
9057 001270 175616 TBUF: DLADDR + 6
9058 001272 000000 I: 0
9059 001274 000020 .BLKW 20 sFOR RS STACK
9060 001334 000000 R5STACK: .WORD 0
9062 001336 START:
(1) .SBTTL INITIALIZE THE COMMON TAGS
(1) ::CLEAR THE COMMON TAGS ($CMTAG) AREA
(1) 001336 012706 001100 MoV #SCMTAG,R6 :FIRST LOCATION TO BE CLEARED
(1) 001342 005026 CLR (R6) + :: CLEAR MEMORY LOCATION
(1) 001344 022706 001140 CMP #SWR,R6 ;;DONE?
(1) 001350 001374 BNE .=6 :sLOOP BACK IF NO
(1) 001352 012706 001100 MoV #STACK,SP ;:SETUP THE STACK POINTER
(1) ;;INITIALIZE A FEW VECTORS
(1) 001356 012737 014370 000020 MOV #$SCOPE ,a# IOTVEC ;;I0T VECTOR FOR SCOPE ROUTINE
(1) 001364 012737 000300 000022 MOV #PR6,a#TOTVEC+2 ;:LEVEL 6
(1) 001372 012737 014170 000030 MoV #SERROR,a#EMTVEC  :;EMT VECTOR FOR ERROR ROUTINE
g}; 001400 012737 000300 000032 81702 MOV #PR6 ,Q¥EMTVEC+2 ;;LEVEL 6
(1) 001406 012737 015322 000034 MoV #STRAP ,3#TRAPVEC ;;TRAP VECTOR FOR TRAP CALLS
(1) 001414 012737 000300 000036 MOV #PR6,I¥TRAPVEC+2;LEVEL 6
(1) 001422 012737 012502 000024 MOV #SPWRON,#PWRVEC , ;POWER FAILURE VECTOR
(1) 001430 012737 000300 000026 MOV #PR6 ,a#PWRVEC+2 ;;LEVEL 6
(1) 001436 016767 010752 010742 MOV SENDCT,SEOPCT  ;;SETUP END-OF=PROGRAM COUNTER
(1) 001444 005067 177510 CLR STIMES s INITIALIZE NUMBER OF ITEPATIONS
(1) 001450 005067 177506 CLR S$ESCAPE :sCLEAR THE ESCAPE ON ERROR ADDRESS
(1) 001454 112767 000001 177433 MovB #1,SERMAX ssALLOW ONE ERROR PER TEST
(1) 001462 012767 001462 177416 MOV ..SLPADR ..INITIALIZE THE LOOP ADDRESS FOR SCOPE
(1) 001470 012767 001470 177412 MOV .SLPERR :SETUP THE ERROR LOOP ADDRESS
(2) ;.SIZE FOR A HARPUARE SWITCH REGISTER. IF NOT FOUND OR IT IS
(2) ;.EQUAL TO A **-1"', SETUP FOR A SOFTWARE SWITCH REGISTER.
(2) 001476 013746 000004 MOV a#ERRVEC,=(SP) ;;SAVE ERROR VECTOR
(2) 001502 012737 001536 000004 MoV #6465 ,3FERRVEC  ;;SET UP ERROR VECTOR
(2) 001510 012767 177570 177422 MOv #DSWR, SWR s;SETUP FOR A HARDWARE SWICH REGISTER
(2) 001516 012767 177570 177416 MOV #DDISP,DISPLAY ;;AND A HARDWARE DISPLAY REGISTER




MAINDEC=22-CNDVA=-A

CNDVAA. P11

(2) 001524
(2) 001532
(2)
(2) 001534
(2) 001536
(2) 001542
(2) 001544
(2) 001552
2%; 001560
(2) 001564
(2) 001570
(2) 001576
(2) 001600
(2) 001606

9063
(1)
(1) 001606
(1) 001612
(1) 001614
(1) 001622
(1) 001624
(2)
(2) 001630
(2) 001634
(2) 001636
(2) 001644
(2) 001646
(2) 001654
(2) 001656
(2) 001669
(2) 001662
(2) 001670
g}; 001670
(1) 001736

9068 001736
(4) 001736

9069 001744

9070 001744
(3) 001744

9071

9072

%073 001750
(4) 001750

9074

9075 001754
(4) 001754

9076 001760
(4) 001760

9077

9078 001764
(4) 001764

9079 001772
(4) 001772
(7) 002000

16-DEC~82

022777
001012

000403
012716
000002
012767
012767
012637

005067
132767
001403
012767

005227
001951
022737
001445
104401
005737
001012
126727
001406
026727
001005
104406
000403
112767

000422

012767

004767

012167

011167
016701

016767

016767
062767

MACY11 30(1046)

15:12
177777

001544
000176
000174
000004

177412
000200

001216

177777
012446
001672
000042
177352
177266

000001

000001

010250

177300

177276
17770

177264

177256
000002

177406

177366
177362

177417

177332

000042

000001

000176

177244

010404

177266

177262
177254

16-DEC-82

c 3
15:13 PAGE 156-5

INITIALIZE THE COMMON TAGS

64%:
65%:
66%:

67%:

CMP
BNE

BR

MOV
RTI
MOV
MOV
[0}

CLR
BITB
BEQ
MoV

#-1,3SWR
66%

65%
#65%, (SP)
#SWREG, SWR

#DISPREG,DISPLAY
(SP)+,a#ERRVEC

$PASS

#APTSIZE ,SENVM

67%
#$SWREG, SWR

.SBTTL TYPE PROGRAM NAME
;;TYPE THE NAME OF THE PROGRAM IF FIRST PASS

.SBTTL

70%:
71%:

- 698 :
&8s

LOOP:

;s TRY TO REFERENCE HARDWARE SWR

; sBRANCH IF NO TIMEOUT TRAP OCCURRED
;;AND THE HARDWARE SWR ]S NOT = =1
; BRANCH IF NO TIMEOUT

;:SET UP FOR TRAP RETURN

;;POINT TO SOF TWARE SWR
:sRESTORE ERROR VECTOR

;. CLEAR PASS COUNT

;o TEST USER SIZE UNDER APT
;s YES ,USE NON-APT SWITCH
::NO,USE APT SWITCH REGISTER

:2FIRST TIME?
:sBRANCH IF NO
:2ACT=11?

;;BRANCH IF YES

;s TYPE ASCIZ STRING

GE; VALUE FOR SOF TWARE SWITCH REGISTER

INC #=1
BNE 68%
CMP #SENDAD,a#42
BEQ 68%

TYPE ,69%

an42

BNE 70%
(MPB $ENV, #1
8EQ 70%
CMP SWR,#SWREG
BNE 71%
GTSWR
BR 71%
Movs #1,8AUTOB
BR 68%

.ASCIZ

LET INITFLAG :=

Mov #1,INITFLAG
CALL CYCLE
JSR PC,CYCLE
MoV (ADRS)+,DLADD
Mov (ADRS) ,DLVEC
MOV DLADD,ADRS
MOV DLADD,RCSR
MOV DLADD ,RBUF
ADD #2 ,RBUF

:sARE WE RUNNING UNDER XXDP/ACT?
: ;BRANCH IF YES

:;ARE WE RUNNING UNDER APT?

+ sBRANCH IF VYES

;s SOFTWARE SWITCH REG SELECTED?
:BRANCH IF NO

:sGET SOFT-SWR SETTINGS

::SET AUTO~MODE INDICATOR
:;GET OVER THE ASCIZ

<CRLF>+7Z~CNDVA-A DLV11-E OFFLINE TEST*<CRLF>

#1

: NO ARGUMENTS=-=ADDRS => NEXT ADDRESS

H ADDRS+2 => NEXT VECTOR

;GET UNIT ADDRESS

LET DLADD := (ADRS)+
:GET UNIT VECTOR

LET DLVEC := (ADRS)

LET ADRS := DLADD
:RCSR = DLADD + 0

LET RCSR := DLADD

LET RBUF := DLADD + #¢

SEQ 0028



0D 3
1 30(1046) 16-DEC~82 15:13 PAGE 156-6

MAINDEC=22~CNDVA=-A MACY
CNDVAA.F11 16-DEC-82 15:12 GET VALUE FOR SOFTWARE SWITCH REGISTER SEQ 0029
9080 002006 LET TCSR := DLADD + w4
(4) 002006 016767 177242 177250 MOV DLADD,TCSR
(7) 002014 062767 000006 177242 ADD #4,TCSR
9081 002022 LET TCSRHI := DLADD + #5
(&) 002022 016767 177226 177236 MOV DLADD, TCSRMI
(7) 002030 062767 000005 177230 ADD #5,TCSRHI
9082 002036 LET TBUF := DLADD + #6
(4) 002036 016767 177212 177224 MOV DLADD, TBUF
(7) 002044 062767 000006 177216 ADD #6, TBUF
9083 002052 LET RS := #RSSTACK
(4) 002052 012705 001334 MOV #RS5STACK,RS
9088 s sBRESET

(1) 002056 000005 RESET




MAINDEC=22~CNDVA=A
CNDVAA.F11

9099
9100
(3)
(&)

~
&~
~
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O
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(3)
(6)

0
Sy S o wh
VA NN
- o P

L Y N
wvOow
e’ N Nt

002060

002062
002070
002076
002076

002102
002102
002104
002110
002114
002120
002122
002122
002126
002126
002126
002126

002134
002134

002140
002142
002142
002146

002150
002150
002152
002152
002152
002152
002152
002160
002160
002164
002170
002170
002176
002200
002200
002202
002204
002210
002212
002216

16-DEC-82

000004

012767
012767

016701

(=]elw)]
— b b
O

146
701
721
012711
012601

005067

012767
005067

005711

005767
001401

104001

062767

016701
066701

026727
001353

010146
010246
012701
010102
062702
010221

MACY]
15:12

000002
000001

177152

000004
012026
000300

177144

002134

007674

007666

000002

177070
177102

177076

000004
000002

1 30¢1046)

177070
177102

176754

177112

000010

E
16-DEC-82 15:13 PAGE 157
GET VALUE FOR SOFTWARE SWITCH REGISTER

A 200220000002 220020l a2l a2 2002202212322 2022002%]1]);

s*TEST 1 ADDRESSABILITY
X THIS TEST VERIFIES THAT THE ADDRESS AS PLACED IN
X THE HARDWARE P-TABLE TO BE CORRECT AND THE DLV11=E RESPONDS
i TO THAT ADDRESS SPACE
::tﬁtt'ﬁ**t.".*Q*.*"""*""'i‘*..'.'i'..."ﬁ...i.i.i'.'iii".
TST1: SCOPE
MOV #2,8TIMES ::D0 2 ITERATIONS
MOV #1,8TESTN ;;SET TEST NUMBER IN APT MAIL 80X
LET ADRS := DLADD
MOV DLADD,ADRS
s SET UP INTERRUPT
SETVEC W#ILLMEM,#INTSRV,#PR6
MOV R1,=(SP)
MOV #ILLMEM, R
[ [0]") #INTSRV,(R1)+
MOV #PR6, (R1)
MOV (SP)+ R1
LET [ := #0
CLR 1
REPEAT
$1:
BGNSUB
MOV #64%,SLPERR
;CLEAR FLAG
LET INTFLAG := #0
CLR INTFLAG
JREAD FLAG
TST SADRS
IF INTFLAG NE #0 THEN
TST INTFLAG
BEQ $2
: FATAL ERROR
ERRDF 1, ,NODL
ERROR 1
ENDIF
$2:
ENDSUB
LET [ := 1 + ¥
ADD 2,1
LET ADRS := DLADD + |
MOV DLADD,ADRS
ADD 1,ADRS
UNTIL 1 EQ #8.
CMP 1.48.
BNE $1
CLRVEC ILLMEM
MOV R1,=(SP) ::PUSH R1 ON STACK
MOV RZ,~(SP) :sPUSH RZ2 ON STA(CK
MOV #ILLMEM,RT
MOV R1,R2
ADD #2,R2

MOV R2,(R1)+

SEQ 0030



MAINDEC=22-CNDVA=A MACY11 30(1046)
CNOVAA P11 16-DEC-82 15:12

(5) 002220 005011

(3) 0Qn2222 012602

(3) 002224 012601
9125

9126 002226
913
9132
9133
9134
9135

F 3
T}6°DEC-82 15:13 PAGE 157-1

ADDRESSABILITY

CLR (R1)

MoV (SP)+,R2 ::POP STACK INTO R2
MoV (SP)+,R1 ::POP STACK IN!O R1

sEND OF TEST
ENDTST

A4 iA220 0002l dRARRRRRRRR2 2222222000202 2120;

‘% THE FOLLOWING 8 TESTS TEST ALL "READ WRITE® BITS

:'Qtttttt*tii't"i*"i"t'*ttt"iﬁtttt't‘tt*t'*tttﬁ"tti"'iiﬁttt

SEQ 0031

™ 8



G
CY11 30(1046) 16-DEC-82 15:13 PAGE 158

MAINDEC=22=-CNDVA=A 1
112 ADDRESSABILITY SEQ 0032

CNDVAA.F1 16-DEC-82
9141

9142 R R LI e e e ey
(3) ;oTEST 2 BREAK = TCSRO SET, CLEAR, RESET
(&) . v NOTE: THE (H) JUMPER HUST 8E REHOVED FOR THIS

. ® TEST TO FUNCTION PROPERLY.

B

— 2
Vi
—

~
H
~

2234222223222 3 3222322220202 230 2222823222201 322} ttit‘tittttt

002226 000004 T2:  SCOPE

002230 012767 000010 176722 MOV #10,8TIMES ::D0 10 ITERATIONS
002236 012767 000002 176734 MOV #2,8TESTN :;SET TEST NUMBER IN APT MAIL BOX

002244 . IF #BRK NOTSETIN $SUSWR THEN
002244 032767 010000 176746 BIT #BRK , SUSWR
(9) 002252 001004 BNE $3
9149 002254 EXIT TST
(S5) 002254 012767 000001 176676 MOV #1,$TIMES
(3) 002262 000452 B8R TST3 2:2:EXIT THIS TEST
9150 002264 ENDIF
(4) 002264 $3:
9151 : SEE IF IT IS CLEAR
9152 002264 BGNSUB
(5) 002264 012767 002272 176616 MoV #64$,SLPERR

9154 002272 IF #BREAK SETIN aTCSR THEN
(6) 002272 032777 000001 176764 BIT #BREAK,3T(SR
(9) 002300 001401 BEQ $4
9155 ; BREAK DID NOT RESET IN T(SR
9156 002302 ERRHRD 2, ,DIDNOT
(1) 002302 104002 ERROR 2
9157 002304 ENDIF
(4) 002304 $4:
9158 002304 ENDSUB

9160 : TRY TO SET BREAK BIT
9161 002304 BGNSUB
(5) 002304 012767 002312 176576 MOV #64%,SLPERR
9162 002312 LET aTCSR := QTCSR SET.BY #BREAK
(7) 002312 052777 000001 176744 BIS #BREAK,aTCSR
9163 ; STUCK TO O
9164 002320 IF #BREAK NOTSETIN QTCSR THEN
(6) 002320 032777 00000% 176736 BIT #BREAK ,aTCSR
(9) 002326 001001 BNE $5
9165 . BREAK DID NOT SET IN TCSR
9166 002330 ERRHRD 3, ,DIDNOT
(1) 002330 104003 ERROR 3
9167 002332 ENDIF
(4) 002332 $5:
9168 002332 ENDSUB

9170 ; TRY TO CLEAR A SET BIT
9171 002332 BGNSUB
(5) 002332 012767 002340 176550 MOV #64%,SLPERR

9173 002340 LET ITCSR := QTCSR CLR.BY #BREAK
(7) 002340 042777 000001 176716 BIC #BREAK ,aTCSR
9174 ¢ ; SHOULD HAVE CLEARED

-....-.o

Lo XVe]
o, el ek o PN PN e
OO = NN
~ QD N~ o o o
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MAINDEC=-22-CNDVA-A
CNDVAA.F11

9175
(6)
(9)

9176

9177
(1)

9178
(4)

9179

9180

9181

9182
(5)

9183

9184
(7)

9185

9186
1)

9187
(6)
(9)

9188

9189
(1)

9190
(4)

9191

9192

9193

9194

9199

002346
002346
002354

002356
002356
002360
002360
002360

002360
002360

002366
GJ2366

002374
002374
002376
002376
002404

002406
002406
002410
002410
002410
002410

032777
001401

104004

012767
052777
000005
032777
001401

104005

MACY11 30(1046)
16-DEC-82 15:12

000007

002366

000001

000001

176710

176522

176670

176660

H 3
16~-DEC-82 15:13 PAGE 158-1
T2 SEQ 0033

BREAK = TCSRO SET, CLEAR, RESET
{1 #BREAK SETIN @TCSR THEN

BIT #BREAK ,aTCSR
8EQ $6
: BREAK DID NOT CLEAR IN TCSR
ERRHRD &,,DIDNOT
ERROR &
ENDIF
$6:
ENDSUB
: NOW SEE IF RESET CLEARS IT7
BGNSUB
MOV #64% ,SLPERR
LET aTCSR := ATCSR SET.BY #BREAK
BIS #BREAK ,aTCSR
; ISSUE BUS RESET
ESET
RESET
IF #BREAK SETIN aTCSR THEN
BIT #BREAK ,3TCSR
BEQ $7
: BREAK DID NOT RESET IN TCSR
ERRHRD 5,,DIDNOT
ERROR S
ENDIF
$7:
ENDSUB

ENDTST

S RANARARARAAAAAAARRARATAAANARREANRAARAARRANAARAACNRCARAACARANARERS

[l 4



MAINDEC=-22-CNDVA-A
CNDVAA. P

O OVOOVO0
NIAN AN AN~
PN =\ b bk b
Q0O ~ 00 NO VN o IS

O 0
n
n
-—

O

PN~ -,
NOON
N

9223
9224

9225
9226
9227
9228

9229
9230
(7)
9231
9232
(6)
(9)
9233
9234
(1)
9235
(4)
9236
9237

~ ~
F o ) S =Y
- -~

002410

002412
002420

002426
002426

002434
002434
002442

002444
002444
002446
002446
002446

002446
002446
002454
002454

002462
002462
002470

002472
002472
002474
002474
002474

002474
002474

002502
002502

002510
002510
002516

002520
002520
002522
002522
002522

16-DEC-82

000004

012767
012767

012767

032777
001401

104006

012767
052777

032777
001001

104007

012767

042777

032777
001401

104010

- X
Vi
L¢<

000010
000003

002434

000004

002454
000004

000004

002502

000004

000004

1 30(1046)

176540
176552

176454

176622

176434
176602

176574

176406
176554

176546

16-DEC-82
T2

l
15:13 PAGE 159

BREAK = TCSRO SET, CLEAR, RESET

sRRRAENRRAATAAARAAACACCCCNCONROAARRANNRAARGCARNRAGRONROROACACOOCTSE

tTEST 3

ttttttti*tttttt'tttiittit'ﬁitt*tttitttt*ttt*tttt't.'ﬁitttttQttt

T:TS

$10:

$11:

$12:

SCOPE

MoV
Mov

Mov

BIT
BEQ

ERROR

MOV
BIS

BIT
BNE

ERROR

MoV

BIC

BIT

ERROR

MAINT - TCSR2 SET, CLEAR, RESET

#10,$TIMES ::00 10 ITERATIONS
#3,8TESTN s SET TEST NUMBER IN APT MAIL BOX
; SEE IF IT IS CLEAR
BGNSUB
#64S ,SLPERR
IF #MAINT SETIN QTCSR THEN
:?SINT.G1CSR
s MAINT DID NOT RESEY IN TCSR
6 ERRHRD 6,,DIDNOT
ENDIF
ENDSUB
; TRY TO SET MAINT BIT
BGNSUB
#645 ,SLPERR
LET aTCSR := @TCSR SET.BY #MAINT
#MAINT ,3TCSR
: STUCK TO O
1 #MAINT NOTSETIN aTCSR THEN
:T?INT.QTCSR
: MAINT DID NOT SET IN T(SR
. ERRHRD 7,,DIDNOT
ENDIF
ENDSUB
: TRY TO CLEAR A SET BIT
BGNSUB
#64%,8LPERR
LET aTCSR := QTCSR CLR.BY #MAINT
#MAINT ,aTCSR
: SHOULD HAVE CLEARED
IF #MAINT SETIN @TCSR THEN
:?SINT.BTCSR
: MAINT DID NOT CLEAR INT(SR
10 ERRHRD 10,,DIDNOT
ENDIF
ENDSUB

SEQ 0034



MAINDEC-Z2~CNDVA=-A
CNDVAA.PIN

9238
9239
(5)
9240
9241
(7)
9242
9243
(1)
9244
(6)
(9)
9245
9246
(1)
9247
(4)
9248
9249
9250
9251
9252
9257

002546

002550
002550
002552
002552
002552
002552

Y1
16-DEC-82 15:12

012767
052777
000005
032777
001401

104011

MAC

002530

000004

000004

176360

176526

176516

J 3
1 30¢1046) t;6-05(-82 15:13_ PAGE 159-1

MAINT = TCSR2 SET, CLEAR, RESET
; NOW SEE IF RESET CLEARS IT

BGNSUB
MOV #6493 ,8LPERR
LET aTCSR := aTCSR SET.BY #MAINT
8IS #MAINT ,aTCSR
: ISSUE BUS RESET
RESET
RESET
IF #MAINT SETIN aTCSR THEN
BIT #MAINT ,QTCSR
BEQ $13
: MAINT DID NOT RESET IN TCSR
ERRHRD 11, ,DIDNOT
ERROR 11
ENDIF
$13:
ENDSUB

ENDTST

":'Q'ttt'titt.ﬁttl’i'iitit'.'ttt'l't'Qtt'*'.tﬁ‘tt"itli'itttﬁttttt't

SEQ 0035

R



MAINDEC-ZZ~CNDVA=A
CNDVAA.F11

N = = OO = NI N

—d vt "t o N\ b Nt o N

9297

9301
9302

002552

002554
002562

002570
002574
002600
002602

002602
002602

002610
002610
002616

002620
002620
002622
002622
002622

002622
002622
002630
002630

002636
002636
002644

002646
002646
002650
002650
002650

002650
002650

002656
002656

002664
002664
002672

002674

16-DEC~82

000004

012767
012767

012746
012746
000002
012767

032777
001601

104012

012767
052777

032777
001001

104013

012767

042777

032777
001401

MACY1
15:12

000010
000004

000300
002602

002610

000100

002630
000100

000100

002656
000100

000100

1 30(1046)

176376
176410

176300

176446

176260
176426

176420

176232

176400

176372

16-DEC-8
T3

K
2 15:13 PAGE 160
MAINT - TCSR2 SET, CLEAR, RESET SEQ 0036

:'tttttttitttti*tttttttittttttttt'Qﬁ'.'*'QQ..i....'.'......'.'.'.

XMITIE - TCSR6 SET, CLEAR, RESET

':ttittt*tt*ttttttttittititttttttt'tti'it"."i"."'.'.'."..."

S+TEST &

T5T4:

648

$14:

$15:

SCOPE

MOV
MOV

MOV
MOV
RTI

MOV
BIS

8IT
BNE

ERROR

MOV

BIC

@D
laa T
0D -

#10,8TIMES
#4,8TESTN

#PR6,=(SP)
#64%,~(SP)

. SEE
#65% ,SLPERR

#XMITIE ,aTCSR
$14

12

: TRY
#64% ,SLPERR
#XMITIE ,aTCSR

#XMITIE ,aTCSR
$15

13

: TRY
#64%,SLPERR

#XMITIE,STCSR

#XMITIE ,aTCSR
$16

::00 10 ITERATIONS
::SET TEST NUMBER IN APT MAIL BOX
: USE PRIORITY OF 6
::PUT NEW PS ON STACK
;sPUT NEW PC ON STACK
::;POP NEW PC AND PS

IF IT IS CLEAR
BONSUB

IF #XMITIE SETIN QTCSR THEN
: XMITIE DID NOT RESET IN TCSR
ERRHRD 12,,DIDNOT

ENDIF

ENDSUSB

TO SET XMITIE BIT
BGNSUB

LET aTCSR := aTCSR SET.BY #XMITIE
; STUCK T0 0
IF #XMITIE NOTSETIN @TCSR THEN
: XMIT DID NOT RESET IN TCSR
ERRHRD 13,.DIDNOT
ENDIF
ENDSUB
TO CLEAR A SET BITY
BGNSUB
LET 8TCSR := @TCSR CLR.BY #XMITIE
; SHOULD HAVE CLEARED
IF #XMITIE SETIN QTCSR THEN

: XMIT DID NOT CLEAR IN T(SR
ERRHRD 14, ,DIDNOT

M:
A



MAINDEC=2Z-CNDVA-A
CNDVAA. P11

(1)
9303
(4)
9304
9305
9306
9307
(5)

O OV VO 0

WA WA WWAS AW~
b b S b d ek wh ) O\ b ad
NON = NV wr SN~ N

002674
002676
002676
002676

002676
002676

002704
002704

002712
002712
002714
002714
002722

002724
002724
002726
002726
002726
002726

MACY11 30(1046)

16-DEC-82 15:12

104014

012767
052777
000005
032777
001401

104015

002704

000100

000100

176204

176352

176342

L 3
TZb-DEC-B? 15:13 PAGE 160-1

XMITIE = TCSR6 SET, CLEAR, RESET

ERROR 14
ENDIF
$16:
ENDSUB
; NOW SEE IF RESET CLEARS IT
BGNSUB
MOV #6483 ,SLPERR
LET oTCSR := QATCSR SET.BY #XMITIE
8IS #XMITIE,aTCSR
; ISSUE BUS RESET
BRESET
RESET
IF #XMITIE SETIN aTCSR THEN
817 #XMITIE ,STCSR
BEQ $17
: XMIT DID NOT RESET [N T(CSR
ERRHRD 15, ,DIDNOTY
ERROR 15
ENDIF
$17:
ENDS
ENDIST

HAAARARA AR AAAL A AAAAA AL AR A AR AR A AR ARl AR Ll al))))

SEQ 0037

M
W
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9334
9335
(3)
(4)
(4)

~~
F o
~

0

0 0
a1 L a1V W NV N W Y )

o VIV, Faltele W NaNE 1oV SV P o F o
L daS AT A A AT e LA A A

9356
9357

9358
9359

(1)
9360

(4)
9361
9362
9363
9364

(5)

002726

002730
002736
002744
002744
002752
002754
002754
002762
002764
002764

002764
002764
002772
002772

003000
003000
003006

003010
003010
003012
003012
003012

003012
003012

003020
003020
003026
003026
003034

003036
003036
003040
003040
003040

003040
003040

16-DEC-82

000004

012767
012767

032767
001004

012767
000441

012767
042777

032777
001401

104016

012767
052777
032777
001001

104017

012767

MACY1
15:12

000010
000005
040000

000001

002772
000002

000002

003020

000002
000002

003046

1 30(1046)

176222
176234
176246

176176

176116
176260

176252

176070

176232
176224

176042

m3
TZb-DEC-BZ 15:13 PAGE 161

XMITIE = TCSR6 SET, CLEAR, RESET SEQ 0038

R L T LA TR A T R A P R T
;*TEST S DTR - RCSR1 SET, CLEAR
it NOTE: RESET DOES NOT CLEAR THIS BIT
:® WE CANNOT TEST FOR AN INITIAL CONDITION
. AS THIS BIT IS UNDEFINED UPON POWER UP AND
;® INIT DOESN'T AFFECT IT,
;v THE (=FD) JUMPER MUST BE IN FOR THIS TEST TO WORK.
I L L L T L T P L LA Y
TSTS:  SCOPE

MOV #10,$TIMES ;:D0 10 ITERATIONS

MOV #5,8TESTN ;;SET TEST NUMBER IN APT MAIL BOX

IF #FRFD NOTSETIN $USWR THEN
BIT #FRFD,SUSWR

BNE $20
EXIT TST
MOV #1,8TIMES
3R TST6 2 EXIC THIS TEST
ENDIF
$20:
: TRY TO CLEAR DTR BIT
BGNSUB
MOV #64S ,SLPERR
LET dRCSR := ARCSR CLR.BY #DTR
BIC #DTR,IRCSR
: STUCK TO O
IF #DTR SETIN QRCSR THEN
BIT #DTR,aRCSR
BEQ $21
: DTR DID NOT CLEAR IN RCSR
ERRHRD 16, ,DIDNOT
ERROR 16
ENDIF
$21:
ENDSUB
: TRY TO SET DIR
BGNSUB
MOV #6498 ,BLPERR
LET aRCSR := @ARCSR SET.BY #DTR
BIS #DTR,aRCSR
IF #DTR NOTSETIN aRCSR THEN
BIT #DTR,aRCSR
BNE $22
: DTR DID NOT SET IN RCSR
ERRHRD 17, ,.DIDNOT
ERROR 17
ENDIF
$22:
ENDSUB
;: TRY TO CLEAR IT AGALN
BGNSUB

MOV #64%,$LPERR




MAINDEC=22~CNDVA=-A MACY11 30(1046)
CNDVAA.F

6365

(7)
9366
9367

(6)

(9)
9368
9369

(1)
9370

(&)
9371
9372
9373
9374
9375
9380

003046
003046

003054
003054
003062

003064
003064
003066
003066
003066
003066

16-DEC-82 15:12
062777 000002 176204
8 %777 000002 176176

3
01401

104020

N 3
16=DEC~82 15:13 PAGE 161-1
15 DTR - RCSR1 SET, (LEAR

LET dRCSR := QRCSR CLR.BY #DIR

; SHOULD HAVE CLEARED IV
IF #DTR SETIN IRCSR THEN

BIC #DTR,aRCSR

BIT #DTR,3RCSR
BEQ $23
: DTR DID NOT CLEAR IN RCSR
ERRHRD 20, ,DIDNOT

ENDIF

ENDSUB
ENDTST

ERROR 20
$23:

:;ttttttttttttﬁttt*tt*itt'it'itt*ﬁﬁtﬁ*t*itt*tﬁt.ttttttttti.ti'ttt

SEQ 0039

MA
CN



MAINDEC~ZZ~CNDVA=-A
CNDVAA.F11

9385
9386
(3)

’\3’\’\"\’\/\’\
O O = PIPON &

W ad N st Nt Nt

D
7~ AN~
WWNO O
et \)

9393

(Yol olVo)
~NWIWN A~
VIO 00 &~
~r NN S

9397
9398

0

WO VO VOO0

nm DA~
— md o ad A S b =d ok b SN d
D00 r O WA BN AN S b o

S

003066

003070
003076
003104
003104
003112
003114
003114
003122
003124
003124

003124
003124

003132
003132
003140

003142
003142
003144
003144
003144

003144
003144
003152
003152

003160
003160
003166

003170
003170
003172
003172
003172

003172
003172

003200
003200

003206

16-DEC-82

000004

012767
012767

032767
001004

012767
000452

012767

032777
001401

104021

C12767
052777

032777
001001

104022

012767

042777

000010
000006
040000

000001

003132

000004

003152
000004

000004

003200

000004

1 30¢1046)

176062
176074
176106

176036

175756

176120

175736
176100

176072

175710

176052

8
15:13 PAGE 162

16=-DE(-82
15 DTR = RCSR1 SET, CLEAR
:;tttttttttttttttttttttittttttttttttttttttttttttttttttttttttttttt
J*TEST 6 REQSEND = R(CSRZ SET, CLEAR, RESET
X THIS TEST ASSUMES THAT JUMPER =(FR) IS IN
::tttttttttttltttttttt't!'t'Q'tttt'ttttttttttttttttt'ttitttt!tttt
TSTG: SCOPE
MOV #10,8TIMES ::00 10 ITERATIONS
MOV #6,8TESTN ;:SET TEST NUMBER IN APT MAIL BOX
IF #FRFD NOTSETIN SUSWR THEN
BIT #FRFD,SUSWR
BNE $24
EXIT TST
MOV #1,8TIMES
BR TST7 2::EXIT THIS TEST
ENDIF
$24:
: SEE IF IT ]S CLEAR
BGNSUB
MOV #648 ,SLPERR
IF #REQSEND SETIN aRCSR THEN
BIT #REQSEND ,aRCSR
BEQ $25
: REQSEND DID NOT RESET IN RCSR
ERRHRD 21, .DIDNOT
ERROR 21
ENDIF
$25:
ENDSUB
; TRY TO SET REQSEND BIT
BGNSUB
MOV #6469 ,8LPERR
LET @RCSR := QRCSR SET.BY #REQSEND
BIS #REQSEND,aRCSR
: STUCK TO O
IF #REQSEND NOTSETIN aRCSR THEN
BIT #REQSEND ,aRCSR
BNE $26
: REQSEND DID NOT SET IN RCSR
ERRHRD 22, ,DIDNOT
ERROR 22
ENDIF
$26:
ENDSUB
; TRY TO CLEAR A SET BIT
BGNSUB
MOV #64% , 8L PERR
LET aRCSR := QRCSR CLR.BY #REQSEND
BIC #REQSEND ,aRCSR

; SHOULD HAVE CLEARED
IF #REQSEND SETIN aRCSR THEN

SEQ 0040 ¢l



MAINDEC=2Z~(NDVA=-A
CNDVAA.F11

(6)
(9)
9420
9421
(1)
9422
(4)
9423
9424
9425
9426
(%)
9427
9428
(7)
9429
9430
(1)
9431
(6)
(9)
9432
9433
(1)
9434
(4)
9435
9436
9437
9438
9439
9444

003206
003214

903216
003216
003220
003220
003220

003220
003220

003226
003226

003234
003234
003236
003236
003244

003246
003246
003250
003250
003250
003250

MACY11 30(1046)

16-DEC-82 15:12

032777
001401

104023

012767
052777
000005
032777
001401

104024

000004

003226

000004

000004

176044

175662

176024

176014

16-DEC~8
T6

$27:

$30:

C 4
2 15:13 PAGE_162-1

REQSEND ~ R(SRZ SET, CLEAR, RESET SEQ 0041
BIT #REQSEND ,aRCSR
BEQ $27
. REQSEND DID NOT CLEAR IN RCSR
ERRHRD 23, ,DIDNOT
ERROR 23
ENDIF
ENDSUB
: NOW SEE IF RESET CLEARS IT
BGNSUB
MOV #64% , SLPERR
LET ARCSR := QRCSR SET.BY #REQSEND
BIS #REQSEND ,aRCSR
: ISSUE BUS RESET
BRESET
RESET
IF #REQSEND SETIN Q@RCSR THEN
BIT #REQSEND ,aRCSR
BEQ $30
: REQSEND DID NOT RESET IN RCSR
ERRHRD 24, ,DIDNOT
ERROR 24
ENDIF
ENDSUB

ENDTST

.':tttttt*ttttttt*itt't*tfit*ttitttt*it*tttiﬁﬁﬁ*ﬁﬁ*tttt".'*it*titt

me
CA



MAINDEC=~ZZ~CNDVA=A
CNDVAA.F11

9446
9447

003250

003252
003260

003266
003266

003274
003274
003302

003304
003304
003306
003306
003306

003306
003306
003314
003314

003322
003322
003330

003332
003332
003334
003334
003334

003334
003334

003342
003342

003350
003350
003356

003360
003360
003362
003362
003362

003362

16-DEC-82

000004
012767
012757
012767

032777
001401

104025

012767
052777

032777
001001

104026

012767

062777

032777
001401

104027

MACY1
15:12

000010
000007

003274

000010

003314
000010

000010

003342
000010

000010

1 30€1046)

175756

175574
175736

175730

175546

175710

175702

16-DEC-8
16

0
2 15:13 PAGE 163
REQSEND = RCSRZ

SET, CLEAR, RESET SEQ 0042

4 2324332223232 222200002 20202 R 02222 02000200 R 2 dd0R 1),

SeTEST 7

':tt**tQtﬁ*ttt'tﬁtt't‘itt"ttii*lﬁ*ttttttﬁ*ittttﬁti't"i**i'ﬁit*t

1377

$31:

$32:

$33:

SCOPE
Mov
MoV
Mov

BIT
BEQ

ERROR

MoV
BIS

BIT

ERROR

Mov

BIC

BIT

ERROR

SECXMIT = RCSR3 SET, CLEAR, RESET

#10,8TIMES ::D0 10 ITERATIONS

#7,$TESTN <3SET TEST NUMBER IN APT MAIL BOX
: SEE IF'IT IS CLEAR
BGNSUB
#6438, SLPERR
If #SECXMIT SETIN S3RCSR THEN
:§§CXHIT.3RCSR
: SECXMIT DID NOT RESET IN RCSR
25 ERRHRD 25,,DIDNOT
ENDIF
ENDSUB
: TRY TO SET SECXMIT BIT
BGNSUB
#64$, SLPERR
LET  @RCSR := @RCSR SET.BY WSECXMIT
#SECXMIT,aRCSR
: STUCK TO 0
If #SECXMIT NOTSETIN @aRCSR THEN
g§5cxn1T,aRcsa
: SECXMIT DID NOT SET IN RCSR
26 ERRHRD 26, ,DIDNOT
ENDIF
ENDSUB
; TRY TO CLEAR A SET BIT
BGNSUB
#64%,$LPERR
LET  BRCSR := @RCSR CLR.BY #SECXMIT
#SECXMIT,aRCSR
: SHOULD HAVE CLEARED
IF NSECXMIT SETIN @RCSR THEN
:ggcxnlr.ancsa
: SECXMIT DID NOT CLEAR IN RCSR
27 ERRHRD 27, ,DI1DNOT
ENDIF
ENDSUB

BGNSUB

X



MAINDEC-2Z~CNDVA=-A
CNDVAA.F11

(5)
9483
9484
9485

(7)
9486
9487

(1)
9488

(6)

(9)
9489
9490

(1)
9491

(4)
9492
9493
9494
9495
9496
9501

003362

003370
003370

003376
003376
003400
003400
003406

003410
003410
003412
003412
003412
003412

MACY11 30(1046)

16-DEC-82 15:12

012767

052777
000005
032777
001401

104030

003370

000010

000010

175520

175662

175652

16-DEC-8
17

$34:

MOV

BIS
RESET
BIT
BEQ

ERROR

E 4
2 15:13 PAGE_163~1
SECXMIT = RCSR3

SET, CLEAR, RESET

#64%,SLPERR
: NOW SEE IF RESET CLEARS IT

LET dRCSR := QRCSR SET.BY #SECXMIT

#SECXMIT,aRCSR
: ISSUE BUS RESET
SET
IF #SECXMIT SETIN GRCSR THEN
:gzcxnlr.ancsn
: SECXMIT DID NOT RESET IN RCSR
ERRHRD 30,.DIDNOT
30
ENDIF
ENDSUB

ENDTST

::ttt'ttttttttttttttititt*ttt*'ttttttitttitiittitﬁititi'ttﬁiti'tt

SEQ 0043



MAINDEC=2Z~CNDVA=A
CNDVAA.F11 16-DEC-82
9503
9504
(3)
(3)
:5; 003412 000004
(1) 003414 012767
(2) 003422 012767
9509
9510 003430
(5) 003430 012767
9511
9512 003436
(6) 003436 032777
(9) 003444 001407
9513
9514 003446
(1) 003446 104031
9515 003450
(4) 003450
9516 003450
9517
9518
9519 003450
(5) 003450 012767
9520 003456
(7) 003456 052777
9521
9522 003464
(6) 003464 032777
(9) 003472 001001
9523
9524 003474
(1) 003474 104032
9525 003476
(4) 003476
9526 003476
9527
9528
9529 003476
(5) 003476 012767
9530
9531 003504
(7) 003504 042777
9532
9533 003512
(6) 003512 032777
(9) 003520 001401
9534
9535 003522
(1) 003522 104033
9536 003524
(4) 003524
9537 003524
9538
9539

000010
000010

003436

000040

003456
000040

000040

003504

000040

000040

1 30(1046)

b b
~~
vl
VN
oo

175452

175614

175432
175574

175566

1754064

175546

175540

16-0EC~8
17

F
2 15:13 PAGE_164
SECXMIT - RCSR3

SET, CLEAR, RESET SEQ 0044

A LAAARRASAR R ARl R 2R 222 1202 0222 220 20Rd] ] ]

TETEST 10

13110:

$£35:

$36:

$37:

SCOPE
MOv
MOV
[1]"

8IT
BEQ

ERROR

Mov
8IS

BIT
BNE

ERROR

DATAIE - RCSR5 SET, CLEAR, RESET

A AAAALAALAAARAARASAAARARRAAARARRARRRAd AR AR AR ARddaRlRd] ]

#10,8TIMES
#10,8TESTN

. SEE
#6468, SLPERR

#DATAIE ,aRCSR
$35

31

: TRY
#64% ,8LPERR
#DATAIE ,aRCSR

#DATAIE ,aRCSR
$36

32

; TRY
#64% 5L PERR

#DATAIE ,aRCSR

#DATAIE ,aRCSR
$37

33

: NOW

::D0 10 ITERATIONS
;s SET TEST NUMBER IN APT MAIL BOX
IF IT IS CLEAR
BGNSUB

IF #DATAIE SETIN QRCSR THEN

. DATAIE DID NOT RESET IN RCSR
ERRHRD 31,,DIDNOT

ENDIF
ENDSUB
TO SET DATAIE BIT
BGNSUB
LET adRCSR := aR(CSR SET.BY #DATAIE
: STUCK TO O
IF #DATAIE NOTSETIN aRCSR THEN

: DATAIE DID NOT SET IN RCSR
ERRHRD 32,,DIDNOT

ENDIF
ENDSUB
TO CLEAR A SET BIT
BGNSUB
LET aRCSR := IRCSR CLR.BY #DATAIE
s SHOULD HAVE CLEARED
IF #DATAIE SETIN QRCSR THEN
: DATAIE DID NOT CLEAR IN RCSR
ERRHRD 33,,DIDNOT
ENDIF
ENDSUB
SEE IF RESET CLEARS IT

(e B 4



MA[NDE(=ZZ=-CNDVA=A
CNDVAA . F11

9540
(5)
9541
9542
(75
9543
9544
(1)
9545
(6)
(9)
9546
9547
(1)
9548
(4)
9549
9550
9551
9552
9553
9558

003524
003524

003532
003532

003540
003540
003542
003542
003550

003552
003552
003554
003554
003554
003554

MACY11 30(1046)

16-DEC~82 15:12

012767
052777
000005
032777
001401

104034

003532

000040

000040

175356

175520

175510

G &
16-DEC~82 15:13 PAGE 164-1
110 DATAIE - RCSRS SET

MOV #64% ,SLPERR
BIS #DATAIE ,dRCSR
RESET
BIT #DATAIE ,aRCSR
BEQ $40
ERROR 34

$40:

. CLEAR,

RESET
BGNSUB

LET aRCSR := aR(SR SET.BY #DATAIE

: ISSUE BUS RESET
BRESET

IF #DATAIE SETIN aRCSR THEN
; DATAIE DID NOT RESET IN RCSR
ERRHRD 34, ,DIDNOT

ENDIF

ENDSUB
ENDTST

.':tttttttiitt!’tﬁt*Qt't"titi*‘ttl‘tlﬁitttt‘.Q'tttttttttttttt'.'tt*

SEQ 0045 Cl




MAINDEC=Z2~(NDVA=A
CNDVAA.F11

9560
9561
(3)

~ON N
N =PI
N

9566
9567

9568
9569
(6)
(9)
9579
9571
(1)
9572
(4)
9573
9574
9575
9576

9577
(7)
9578
9579
(6)
(9)
9580
9581
(1)
9582
(4)
9583
9584
9585
9586

9587
9588
(7)
9589
9590
(6)
(9)
9591
9592
(1)
9593
(4)
9594
9595
9596

003554

003556
003564

003572
003572

003600
003600
003606

003610
003610
003612
003612
003612

003612
003612
003620
003620

003626
003626
003634

003636
003636
003640
003640
003640

003640
003640

003646
003646

003654
003654
003662

003664
003664
003666
003666
003666

16-DEC~82

000004
012767
012767
012767

032777
001401

104035

012767
052777

032777
001001

104036

012767

042777

032777
001401

104037

MACY11 30(1046)

15:12

000010
000011

003600

000100

003620
000100

000100

003646

000100

000100

175374
175406

175310

175452

175270
175432

175424

175242

175404

175376

16-DEC~-82

T10

H
15:13 PAGE 165

4

DATAIE = RCSRS SET, CLEAR, RESET

;:ttit'ttttl‘ttttitii'i'tttit'ii.tttitttttiitttttttttttttitttttit.

s*TEST N

TST11:

$41:

$42:

$43:

SCOPE
MoV
MOV
Mov

BIT
BEQ

ERROR

MOV
BIS

BIT

ERROR

RCVRIE = RCSR6 SET, CLEAR, RESET

M S 3423220222220 02 22220 2222020000 0R0 R R 0020002 d0ltRRdRiildl)

s SEE
#6438 ,SLPERR

#RCVRIE ,aRCSR
$41

35

; TRY
#64%,3LPERR
#RCVRIE ,aRCSR

#RCVRIE ,aRCSR
$42

36

; TRY
#64%,3LPERR

#RCVRIE,aRCSR

#RCVRIE ,aRCSR
$43

37

s NOW

2:D0 10 ITERATIONS
::SET TEST NUMBER IN APT MAIL BGX
IF IT IS CLEAR
BGNSUB

IF #RCVRIE SETIN QRCSR THEN
: RCVRIE DID NOT RESET IN RCSR
ERRHRD 35,,DIDNOT

ENDIF

ENDSUB

TO SET RCVRIE BIT
BGNSUB

LET aR(SR :=

: STUCK T0 O
IF #RCVRIE NOTSETIN aRCSR THEN

dRCSR SET.BY #RCVRIE

: RCVRIE DID NOT SET IN RCSR
ERRHRD 36, ,DIDNOT

ENDIF
ENDSUB
TO CLEAR A SET BIT
BGNSUB
LET adRCSR := aRCSR CLR.BY #RCVRIE
s SHOULD HAVE CLEARED
IF #RCVRIE SETIN QRCSR THEN
; RCVRIE DID NOT CLEAR IN RCSR
ERRHRD 37,.DIDNOT
ENDIF
ENDSUB
SEE IF RESET CLEARS IT

SEQ 0046



MAINDEC=~Z2~(NDVA=A
CNDVAA.F11

9597

(5)
9598
9599

(7)
9600
9601

(1)
9602

(6)

(9)
9603
Y604

(1)
9605

(4)
9606
9607
9608
9609
9610
9611
9612
9617
9618
9619
9620
9621
9622

003666
003666

003674
003674

003702
003702
003704
003704
003712

003714
003714
003716
003716
003716
003716
003716

MACY11 30(1046)

16-DEC-82 15:12

012767
052777
000005
032777
001401

104040

003674

000100

000100

175214

175356

175346

I 4
}?-DEC-BZ 15:13 PAGE 125-1

T RCVRIE = RCSR6 SET, CLEAR, RESET

BGNSUB
MOV #648 ,SLPERR
LET oRCSR := QRCSR SET.BY #RCVRIE
BIS #RCVRIE,aRCSR
: ISSUE BUS RESET
RESET
RESET
IF #RCVRIE SETIN aRCSR THEN
BIT #RCVRIE ,aRCSR
BEQ $44
: RCVRIE DID NOT RESET IN RCSR
ERRHRD 40, ,DIDNOT
ERROR 40
ENDIF
$44:
CKLOOP
ENDSUB

ENDTST

::Qttt.'.".l.QQ.Q*'Q'Q""Q"Q!tﬁﬁiﬁtttt'ttttttittt"'t"t'QQQQ'

;v THE FOLLOWING & TESTS VERIFY
s+ THAT RESET C(INIT) INITIALIZES READ ONLY BITS.

::it*tttttttttttt"ttttttititti"'ittttitttttitttitt'tii"ttttii'

SEQ 0047

el |



MAINDEC=22~(NDVA=A
CNDVAA.F11

003716

003720
003726

003734
003734
003742
003742
003750

003752
003752

003754
003754
003756
003756

003756
003756
003756

MACY11 30(1046)

16-DEC~82 15:12

000004

012767
012767

012767

032777
001402

104041

000005

000010
000012

003742
000200

175146
175310

T

16~
1

J
DEC-82 15:13 PAGE 166
RCVRIE - RCSR6 SET

4

» CLEAR, RESET SEQ 0048

SA L2222 3218222220 RARAAARARAARARR2ARARRR222dd2]dd 4] )]

TRTEST 12

$45:

MOV
MOV

MOV

BIT
BEQ

ERROR

RESET

TEST THAT RCVRDONE - RCSR 7 = IS CLEARED BY INIT

SXI222 3232222232203 2220322 222202 0222222222222 222020 22220 2]

T57112: SCOPE

#10,87IMES
#12,8TESTN

#64% ,8LPERR
#RCVRDONE ,aRCSR
$45

41

:;00 10 1TERATIONS
::SET TEST NUMBER IN APT MAIL BOX

BGNSUB
IF #RCVRDONE SETIN @RCSR THEN

;RCVRDONE SHOULD HAVE CLEARED BY INIT
: RCVRDONE DID NOT CLEAR IN RCSR
ERRHRD 41,HRESET, DIDNOT

sREISSUE RESET
BRESET

ENDIF

:ALLOW LOOPING AFTER ERROR
CKLOOP
ENDSUB
ENDTST



MAINDEC~ZZ-CNDVA=-A
CNOVAA . F11

003756

003760
003766

003774
003774

004002
004002
004010

MACY11 30(1046)

16-DEC~82 15:12

000004

012767
012767

012767

032777

001002

104042

000005

000010
000013

004002

000200

175106

175254

T

16~
12

K
DEC~82 15:13 PAGE 167

4

TEST THAT RCVROONE = RCSR 7 = IS CLEARED BY INIY SEQ 0049

A 2222223323332 2222200020228 2002202000 R 2R 2R Rdldaddddddd)

TRTEST 13

X 222323 1I2223 3222222200222 2220000002208 2000220 0R0R0dd00dd

73113:  SCOPE

$46:

MoV
MoV

MOV

BIT

ERROR

RESET

TEST THAT XMITRDY = TCSR 7 = IS SET BY INIT

S 2:D0 10 ITERATIONS
N :sSET TEST NUMBER IN APT MAIL BOX

BGNSUB
#64S ,SLPERR

IF #XMITRDY NOTSETIN QTCSR THEN
:ZZITRDY,STCSR

;RESET SHOULD HAVE SET BIT.
XMITRDY DID NOT SET [N TCSR (AFTER RESE
ERRHRD &42,HRESET,DIDNOT

: ISSUE ANOTHER RESET
BRESET

ENDIF

;ALLOW LOOPING ON ERROR
ckLOOP
ENDSUB
ENDTST




MAINDE(C-Z2~CNDVA-A
CNDVAA R

9688

9713
9714
9719

0046016

004020
004026

004034
004034
004042
004042
004050

004052
004052

004054
004054
004056
004056
004056
004056
004056

MACY11 30(1046)

16-DEC-82 15:12

000004

012767
012767

012767
032777
001402

104043

000005

000010
000014

004042
100000

175046
175210

1
n

L
6-DEC-82 15:13 PAGE 168
3 TEST THAT XMITRDY - TCSR 7 - IS SET BY INIT SEQ 0050

S 2322333233383 23822000 RRRRd R0 R dlddRaRitilRRRRdlaRRRRdRdd ]

S*TEST 14

TEST THAT DATAINT - RCSR 15 - IS CLEARED BY INIT.

A 3223320223200 00002200 ARt 2023 it Rt RlitRRARddd ]/

T5T14: SCOPE

MOV
Mov

MOV

BIT
BEQ

ERROR

RESET
$47:

#10,8TIMES ;:D0 10 ITERATIONS
#14,$TESTN s;SET TEST NUMBER IN APT MAIL BOX
BGNSUB
#64%,8LPERR
IF #DATAINT SETIN QRCSR THEN
:EgTAINT.aRCSR

43 ERRHRD 43, HRESET, DIDNOT

;TESTING EFFECT OF RESET ON BIT
;DATAINT DID NOT CLEAR IN RCSR
sALLOW A FRESH START
BRESET

ENDIF

CKLOOP

ENDSUB
ENDTST

::tttitt'ttttt'ttﬁtitltttt'tti'iittititttttttttt'ti*ttﬁtittttttﬁﬁ
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9722 IR AR AN R AR AR PR Rt R AR AR R AR AN R RN NN R AN A AR T AN NNORNRY

(3) ;*TEST 15 TEST THAT RCVRACT ~ RCSR 11 = 15 CLEARED BY INIT

A 2333323223223 2020002222000 220d0RR 2 2020 3220 R dR2Rtdd0RR 0200

004056 000006 T5T15: SCOPE

004060 012767 000010 1 2 MOV #10,8TIMES ;:D0 10 ITERATIONS
004066 012767 000015 1 4 MoV #15,8TESTN :oSET TEST NUMBER IN APT MAIL BOX

9729 004074 IF #CABLE NOTSETIN SUSWR THEN
(6) 004074 032767 020000 175116 BIT #CABLE , SUSWR
(9) 004102 001004 BNE $50
9730 ; CAN'T TEST WITHOUT BERG OR H315.
9731 004104 EXIT TST
(5) 004104 012767 000001 175046 MOV #1,8TIMES
(3) 004112 000411 BR TST16 ;s sEXIT THIS TEST
9732 004114 ENDIF
(4) 004114 $50:

9736 004114 BGNSUB
(5) 004114 012767 004122 174766 MoV #6485 ,SLPERR
2

4
9738 004122 IF #RCVRACT SETIN aRCSR THEN
(6) 0046122 032777 004000 175130 BIT #RCVRACT ,QRCSR
(9) 004130 001402 BEQ $51

9740 ¢RESET SHOULD HAVE CLEARED RCVRA(CT
9741 004132 ERRHRD 44, HRESET, DIDNOT
(1) 004132 104044 ERROR 44

9743 sTESTING EFFECT OF RESET ON BIT
9745 sRCVRALT DID NOT CLEAR IN RCSR

9747 sALLOW ANOTHER TRY
9748 (004134 BRESET

(1) 004134 000005 RESETY
9749 004136 ENDIF
(4) 004136 $51:
9750 ;ALLOW LOOPING ON ERROR
9751 004136 CKLOOP
9752 004136 ENDSUB
9753 006136 ENDTST




MAINDEC=-ZZ~CNDVA=-A

CNDVAA.P11

9756
9761
9762
9763
9764
9765
9766
9767
9768
9773

(3)

(4)

PPN N P
NN WS
N N N ot W

9778
9779

(6)

(9)
9780
9781
9782
9783

9784
9785

004136

004140
004146

004154
004154
004162

004164
004164
004172
004174
004174

004174
004174

004202
004202

004210
004210
004216

004220
004220

004222
004222
004222

000004
012767
012767
032767
001004

012767
000441

012767

042777

032777
001401

104045

MACY11 30(1046)
1¢~-DEC~82 15:12

000010
000016

060000

000001

004202

000002

010000

175036

174766

174706

175050

175042

T
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15

15:13  PAGE 170
TEST THAT RCVRACT = RCSR 11 = 15 CLEARED BY INIT

3

S L e e LR RS L AL LI AL LA LA L LA L
+ THE FOLLOWING & TESTS VERIFY

s« THAT THE EJA SIGNALS CAN BE TRANSMITTED

:* AND RECEIVED THROUGH THE CABLE

‘:ttftttittttit*tt*it*tt*itt't*t*it*iittttttttttit.'....".'..".

B 2022223232222 3322228282222 T 2R R Rt Rt dldlddd)

*

TeTEST 16

TEST THAT CARDET SETS AND CLEARS
AS OTR  SETS AND CLEARS
THE (=FD) JUMPER MUST BE IN FOR THIS TEST.

XL 22223222222232223X223 3338232222222 022032 2222220220 dRRaRRRtdR il ds

[
15116

$52:

$53:

SCOPE
MOV
MOV

BIT
BNE

MOV
BR

#10,8TIMES ;:00 10 ITERATIONS
#16,8$TESTN :;SET TEST NUMBER IN APT MAIL BOX
: CAN WE USE THE WRAPARQUND??
IF #CABLE+FRFD NOTSETIN SUSWR THEN
:gsBLE*FRFD.SUSUR

; CAN'T TEST WITHOUT BERG OR H315
: OR WITH (-FD) JUMPER OUT.
: OR WITH (=FR) JUMPER OUT.

EXIT TST
#1,8TIMES
TST17 2::EXIT THIS TEST
ENDIF
: DTR AND
: CARDET ARE CONNECTED
: BY THE H315 OR EQUIV.
: CLEAR
BGNSUB
#64% ,8LPERR
; CLEAR DITR
LET aRCSR := QRCSR CLR.BY #DTR
#DTR,aRCSR
: CARDET SHOULD FOLLOW
If #CARDET SETIN aRCSR THEN
#CARDET,aRCSR
$53
:« CARDET DID NOT
45 ERRHRD 45, ,FORCE

: CLEAR WITH DIR
ENDIF

ENDSUB

MA
SEQ 0052 CN

— b — b b o
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9805 . SET
9806 004222 BGNSUB
Qég% 006222 012767 004230 174660 MOV #646% ,$LPERR
9808 . SET DTR
9809 004230 LET dRCSR := @RCSR SET.BY #DTR
(7) 004230 052777 000002 175022 BIS #DTR,aRCSR
9810 s CARDET SHOULD FOLLOW
9811 004236 IF #CARDET NOTSETIN QRCSR THEN
(6) (004236 032777 010000 175014 BIT #CARDET,aRCSR
(9) 004244 001001 BNE $54
9812 . CARDET DID NOT SET
9813 004246 ERRHRD 46, ,FORCE
(1) 004246 104046 ERROR 46
9814
9815 ; WITH DTR
9816 004250 ENDIF
(4) 004250 $54:
9817 004250 ENDSUB
9818
9819 : CLEAR
9820 004250 BGNSUB
9é3% 004250 012767 004256 174632 MOV #64%,SLPERR
9822 : CLEAR DIR
9823 004256 LET dRCSR := @RCSR (LR.BY #DTR
(7) 004256 042777 000002 174774 81( #DTR,aRCSR
9824 : CARDET SHOULD FOLLOW
9825 004264 IF #CARDET SETIN @RCSR THEN
(6) 0064266 032777 010000 174766 BIT #CARDET ,aRCSR
(9) 004272 001401 BEQ $55
G826 . CARDET DID NOT
9827 004274 ERRHRD 47, ,FORCE
(1) 004274 104047 ERROR 47
9828
9829 : CLEAR WITH DTR
9830 004276 ENDIF
(4) 004276 $55:
9831 004276 ENDSUB
9832 004276 ENDTST
9833
9834
9835
9836




MAINDEC=2Z~CNDVA=A
CNDVAA.F11

9838
9843
9848

(3)

9871

G873
9874
9875

(4)
9876
9877
9878
9879

(5)
9880
9881
9882

9883
9884

004276

004300
004306

004314
004314
004322

006324
004324
004332
004334
004334

004334
004334

004342
004342

004350
004350
004356

004360
004360

004362
004362
004362

004362
004362

004370
004370

004376

16~-DEC-82

000004
012767
012767

032767
001004

012767
000441

012767

0462777

032777
001401

104050

012767

052777

— B
(V5
I»<

000010
000017
060000

000001

004342

000002

020000

004370

000002

1 30¢1046)

174652
174664
174676

174626

174546

174710

174702

174520

174662

C
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116 TEST THAT CARDET SETS AND CLEARS

.':'.tttiQtttﬁ'ttﬁt‘*t't*itQtit't*QQ'*QQQ.Q.t*.'tttt.'t.'.'tt'ti'i
BRI 2222222223222 2 2322222222222 8222 2220 ddRdld il dRllRRd]d

SeTEST 17 TEST THAT CLRSEND SETS AND CLEARS
‘e AS DTR SETS AND CLEARS
(=FD) JUMPER MUST BE IN FOR THIS TEST TO WORK

222222223323 2232322 2202222202222 2322222 0222232223320 00020R02020d0004)

:-
14717:  SCOPE

MOV #10,8TIMES ::D0 10 ITERATIONS
MOV #17,8TESTN ::SET TEST NUMBER IN APT MAIL BOX
: CAN WE USE THE WRAPAROUND??
IF #CABLE+FRFD NOTSETIN SUSWR THEN
BIT #CABLE+FRFD,SUSWR
BNE $56
: CAN'T TEST WITHOUT BERG OR H315
EXIT TST
MOV #1,8TIMES
BR 18120 $::EXIT THIS TEST
ENDIF
$56:
: DTR AND
: CLRSEND ARE CONNECTED
: BY THE H315 OR EQUIV.
: CLEAR
BGNSUB
MOV #6498 ,8LPERR
: CLEAR DTR
LET aRCSR := aRCSR CLR.BY #DIR
BIC #DTR,aRCSR
: CLRSEND SHOULD FOLLOW
If $CLRSEND SETIN QRCSR THEN
BIT #CLRSEND,aRCSR
BEQ $57
: CLRSEND DID NOT
ERRHRD 50, ,FORCE
ERROR S0
; CLEAR WITH DTR
ENDIF
$57:
ENDSUB
s SET
BGNSUB
MOV #6468 ,8LPERR
; SET DTR
LET aRCSR := QRCSR SET.BY #DTR
BIS #DTR,aRCSR

; CLRSEND SHOULD FOLLOW
IF #CLRSEND NOTSETIN aRCSR THEN

SEQ 0054




MAINDEC-ZZ~CNDVA=-A
CNDVAAF11

(6)

(9)
9885
9886

(1)
9887
9888
9889

(4)
9890
9891
9892
9893

(5)
9894
9895
9896

(7)
9897
9898

(6)

(9)
9899
9900

(1)
9901
9902
9903

(4)
9904
9905
9906
9907
9908
9909

004376
006404

004406
004406

004410
004410
004410

004410
004410

004416
004416

004424
004424
006432

004434
004434

004436
004436
004436
004436

MACY11 30(1046)

16-DEC~82 15:12

032777
001001

104051

012767

042777

032777
001401

104052

020000

004416

000002

020000

174654

174472

174634

174626

0D 5
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$60:

$61:

TEST THAT CLRSEND SETS AND C(LEARS

BIT #CLRSEND,IRCSR
BNE $60
. CLRSEND DID NOT SET
ERRHRD 51, ,FORCE

ERROR 51
; WITH DTR
ENDIF
ENDSUB
. CLEAR
BGNSUB
MOV #64% ,8LPERR
; CLEAR DTR

LET ARCSR := aR(SR CLR.BY #DTR

: CLRSEND SHOULD FOLLOW
IF #CLRSEND SETIN QRCSR THEN

BIC #DTR,aRCSR

BIT #CLRSEND ,aRCSR
BEQ $61
: CLRSEND DID NOT
ERRHRD 52, ,FORCE
ERROR 52

. CLEAR WITH DTR
ENDIF

ENDSUB
ENDTST

SEQ 0055
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CNDVAA

9911
9916
9921

(3)

F11

004436

004440
004446

0046454
004454
004462

004464
006464
004472
004474
0044 74

004474
004474

004502
004502

004510
004510
004516

004520
004520

004522
004522
004522

006522
004522

004530
004530

16-DEC~82

000004
012767
012767

032767
001004

012767
000441

012767

042777

032777
001401

104053

012767

052777

MACY1
15:12

000010
000020

060000

000001

004502

000004

040000

004530

000004

1 3001046)

174466

174406

174550

174542

174360

174522

T
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17
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TEST THAT CLRSEND SETS AND CLEARS

::Qt!Q'tttttttﬁt"ttt'*ttittii*'itittttiﬁit".itttttttttti.'ii*tt
A2 232221322222 24d22 0022228002222 22232022223 0323233222202 2230R00022]

TEST THAT RING SETS AND CLEARS

b
* %
.

15120

$62:

S+TEST 20

SCOPE

MoV
MOV

BIT
BNE

Mov
BR

Mov

BIC

BIT

ERROR

MOV

BIS

AS REQSEND

SETS AND CLEARS

THE (~FR) JUMPER MUST BE IN FOR THIS TEST.

22223232228 232222020022223 2223822232202 23 222322222202 ddRRdd0] 4]

#10,8TIMES ::D0 10 ITERATIONS
#20,8TESTN :sSET TEST NUMBER IN APT MAIL BOX
: CAN WE USE THE WRAPAROUND??
IF #CABLE+FRFD NOTSETIN SUSWR THEN
ggSBLE*FRFD.SUSUR
; CAN'T TEST WITHOUT BERG OR H315
; OR WITH (=FR) JUMPER 0QUT.
EXIT TST
#1,8TIMES
TST21 :::EXIT THIS TEST
ENDIF
; REQSEND AND
: RING ARE CONNECTED
; BY THE H315 OR EQUIV.
; CLEAR
BGNSUB
#64S , 8L PERR
: CLEAR REQSEND
LET aRCSR := QRCSR CLR.BY #REQSEND
#REQSEND,aRCSR
: RING SHOULD FOLLOW
If #RING SETIN aRCSR THEN
#RING,aRCSR
$63
: RING DID NOT
ERRHRD 53, ,FORCE
53
: CLEAR WITH REQSEND
ENDIF
ENDSUB
s SET
BGNSUB
#64% ,$LPERR
: SET REQSEND
LET aRCSR := QRCSR SET.BY #REQSEND
#REQSEND ,dRCSR

; RING SHOULD FOLLOW

SEQ 0056
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9958 004536 IF #RING NOTSETIN ARCSR THEN
(6) 004536 032777 060000 176514 BIT #RING,3RCSR
(9) 004544 001001 BNE $64

9959 : RING DID NOT SET

9960 004546 ERRHRD 5&,,FORCE

gég% 004546 104054 ERROR 54

9962 : WITH REQSEND

9963 004550 ENDIF
(4) 004550 $64:

9964 004550 ENDSUB

9965

9966 ; CLEAR

9967 004550 BGNSUB

952% 004550 012767 004556 174332 MOV #64%,SLPERR

9969 ; CLEAR REGSEND

9970 004556 LET adRCSR := aRCSR CLR.BY #REQSEND
(7) 004556 042777 000004 174474 BIC #REQSEND ,aRCSR

9971 ¢ RING SHOULD FOLLOW

9972 004564 IF #RING SETIN IRCSR THEN
(6) 004564 032777 040000 174466 BIT #RING,aRCSR
(9) 004572 001407 BEQ $65

9973 : RING DID NOT

9974 004574 ERRHRD 55, ,FORCE

96;; 004574 104055 ERROR 55

9976 : CLEAR WITH REQSEND

9977 004576 ENDIF
(4) 004576 $65:

9978 004576 ENDSUB

9979 004576 ENDTST

9980

9981

9982

9983
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CNDVAA

9985
9990
9994
(3)
(4)

P~ N e~
N =2 POPNOW
e’ Y’ e’ N

9999
10000
(6)
(9)
10001
10002
(5)
(3)
10003
(4)
10004
10005
10006
10007
10008

— d
(=]
oo
—=Q
o

el b b
00 OO0 ©

OO0O~AQ0O~AA0OAD0O0~AO0

OO~ 00 N O SN~ =

—_ e 2
oo OO

F11

004576

004600
004606

004614
004614
004622

004624
004624
004632
004634
004634

004634
004634

004642
004642

004650
004650
004656

004660
004660

004662
004662
004662

004662
004662

004670
004670

004676
004676

16-DEC-82 1

000004
012767
012767

032767
001004

012767
000441

012767

042777

032777
001401

104056

012767

052777

032777

MACY
5:12

000010
000021
020000

000001

004642

000010

002000

004670

000510

002000

1 30¢1046)

176326

174246

176410

174402

174220

174362

174354

G
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120 TEST THAT RING SETS AND CLEARS SEQ 0058

R e e T L
Lt T e L e R A T T
seTEST 21 TEST THAT SECREC SETS AND CLEARS

i AS SECXMIT SETS AND CLEARS

A 234 3332022202020 00 R RRdRdR Rl Rt 2 R RdRddaRRRRddRdd

T§T21: SCOPE
MOV #10,8TIMES . ;:D0 10 ITERATIONS

MoV #21,8TESTN soSET TEST NUMBER IN APT MAIL B8OX
; CAN WE USE THE WRAPAROUND??
IF #CABLE NOTSETIN SUSWR THEN

BIT #CABLE ,SUSWR
$66

BNE
: CAN'T TEST WITHOUT BERG OR H315.
EXIT TST
MOV #1,8TIMES
BR TST22 $22EXIT THIS TEST
ENDIF
$66:
: SECXMIT AND
; SECREC ARE CONNECTED
: BY THE H315 OR EQUIV.
: CLEAR
BGNSUB
MOV #64% ,SLPERR
; CLEAR SECXMIT
LET adRCSR := QRCSR CLR.BY #SECXMIT
BIC #SECXMIT,aR".SR
: SECREC SHOULD FOLLOW
IF #SECREC SETIN aRCSR THEN
BIT #SECREC,aRCSR
BEQ $67
s SECREC DID NOT
ERRHRD 56, .FORCE
ERROR 56
: CLEAR WITH SECXMIT
ENDIF
$67:
ENDSUB
; SET
BGNSUB

MOV #6468, 8LPERR

; SET SECXMIT
LET dRCSR := GRCSR SET.BY #SECXMIT

. SECREC SHOULD FOLLOW
IF #SECREC NOTSETIN QRCSR THEN

BIS #SECXM]T ,aRCSR

BIT #SECREC,aRCSR
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(9) 004704 001001 BNE $70
10031 ; SECREC DID NOT SET
10032 004706 ERRHRD 57,,FORCE

(1) 004706 104057 ERROR 57

10034 : WITH SECXMIT
10035 004710 ENDIF
(4) 004710 $70:
0036 004710 ENDSUB
038 : CLEAR
004710 _ BGNSUB
004710 012767 004716 174172 MOV #64$,SLPERR

olele]

AQOAQOOA~AO
lo W D ENF W oW L 3V, [V 7]
BN N = O~ O

; CLEAR SECXMIT
004716 LET dRCSR := FRCSR CLR.BY #SECXMIT
004716 042777 000010 174334 BIC #SECXMIT ,aRCSR

; SECREC SHOULD FOLLOW

004724 IF #SECREC SETIN QRCSR THEN
004724 032777 002000 174326 BIT #SECREC,aRCSR
(9) 004732 0014601 BEQ $71
10045 : SECREC DID NOT
10046 004734 ERRHRD 60, ,FORCE
(1) 004734 104060 ERROR 60
10047
10048 ; CLEAR WITH SECXMIT
10049 004736 ENDIF
(4) 004736 $71:
10050 004736 ENDSUB
16051 004736 ENDTST
10052
10053
10054
10055

Bt cd b o) bbb
o0 OO0

(e 4
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10057
10062
10069
(3)
(4)
(4)

10098
10099

P L Y W
OO0V
o AT o

10105

004736

004740
004746

004754
004754
004762

004764
004764
004772
004774
004774

004774
005000
005004
005006

005006
005006

005014
005014

005022
005022
005024
005030
005034

005036
005036

005042
005042
005050

005052
005052
005054
005054
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000004

012767
012767

032767
001004

012767
000463

012746
012746
000002
012767
042777

010546
012745
004767
012605

017703

032777
001401

104061

MACY11 30(1046)
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000010
000022

060000

000001

000300
005006

005014

000002

000001
004712

1764216

100000

174212
176224

174236

174166

174074

174236

174210

[
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1
T2 TEST THAT SECREC SETS AND CLEARS SEQ 0060

:;tttttttt't'tittttt""t'ttttit'ttittttﬁ't'tttttttiitti.ttt'tﬁtt
CrRANRARNRAENENRANACA NN AT R NN RN OANNANNRAANRAOGRAARACOANOASRONOOOOQOTS

;*TEST 22 TEST THAT DATAINT (RCSR-15) SETS

' WHEN DTR CHANGES STATE

o AND THAT DATAINT IS CLEARED AFTER READING RCSR

it NOTE DTR IS TIED TO BOTH CARDET AND CLRSEND BY THE H315
;e THE (=FD) JUMPER MUST BE IN FOR THIS TEST.

e 214283282223 0822 20000020020 0224002 3222000220000 2 2002020 Rd0R0R02]2

1§7T22: SCOPE

MOV #10,8TIMES ;:D0 10 ITERATIONS
MOV #22,8TESTN :;SET TEST NUMBER [N APT MAIL BOX
. CAN WE USE THE WRAPAROUND??
IF #CABLE+FRFD NOTSETIN SUSWR THEN

BIT #CABLE+FRFD,SUSWR
BNE $72
: CAN'T TEST WITHOUT BERG OR H315
: OR WITH (=FD) JUMPER OUT.

EXIT TIST
MOV #1,8TIMES
BR TST123 22:EXIT THIS TEST
ENDIF
$72:
;MAKE SURE NOTHING UNEXPECTED HAPPENS
MOV #PR6,~(SP) ;:PUT NEW PS ON STACK
MCvV #646$,~(SP) JsPUT NEW PC ON STACK
RT1 ::POP NEW PC AND PS
64%:
SREAD TWICE - CLEARS
BGNSUB
MOV #65% ,8LPERR
: CLEAR DTR
LET aRCSR := aRCSR CLR.BY #DTR
BIC #DTR,aR(SR
JWAIT 1 MILLI-SEC FOR CABLE
WAITMS 1
MOV RS,=(SP)
MOV #1,=-(RS)
JSR PC,WAIT
MOV (SP)+ RS
; READ RCSR = TO CLEAR DATAINT
LET R3 := aR(SR
MOV aRCSR,R3
; READ RCSR AGAIN
IF #DATAINT SETIN aRCSR THEN
BIT #DATAINT ,aRCSR
BEQ $73
; READING RCSR DID NOT CLEAR DATAINT
ERRHRD 61,EDATAINT
ERROR 61
ENDIF
$73:
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MOV

BIS
BIT
BNE

ERROR

BIT

ERROR

MoV
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BIT
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ERROR
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15:13  PAGE 174-1

TEST THAT DATAINT (RCSR=15) SETS SEQ 0061
ENDSUB
: DTR SETTING SETS DATAINT
BGNSUB
#64% ,SLPERR
sSET DTR
LET dRCSR := @RCSR SET.BY #DTR
#DTR,aRCSR
IF #DATAINT NOTSETIN QRCSR THEN
:92TAINT.8RCSR
SETTING DTR DID NOT SET DATAINT
ERRHRD 62,, E2DATA
62
ENDIF
IF #DATAINT SETIN @RCSR THEN
:92TAINT.BRCSR
:READING_RCSR DID NOT CLEAR DATAINT
63 ERRHRD 63,EDATAINT
ENDIF
ENDSUB
; DTR CLEARING SETS DATAINT
BGNSUB
#64% ,SLPERR
sCLEAR DTR
LET dRCSR := @RCSR CLR.BY #DTR
#DTR,aRCSR
IF #DATAINT NOTSETIN @RCSR THEN
:927AINT.8RCSR
:CLEARING DTR DID NOT SET DATAINT
ERRHRD 64, ,E2DATA
64
ENDIF
ENDSUB

ENDTST

™ B
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16-DEC-8
122 TEST THAT DATAINT (RCSR-15) SETS SEQ 0062
L L LR R T Ty T T e T T R
R R AT g Ly R T T P L
:«TEST 23 TEST THAT DATAINT SETS WHEN RING SETS
i AND THAT DATAINT DOES NOT SET WHEN RING CLEARS
1 THE (=FR) JUMPER MUST BE IN FOR THIS TEST.
I L L L L L L L T T LR LT LT L I T
TS123: SCOPE
MOV #10,8TIMES ::D0 10 ITERATIONS
MOV #23,8TESTN :3SET TEST NUMBER IN APT MAIL BOX
; CAN WE USE THE WRAPAROUND??
IF #CABLE+FRFD NOTSETIN $SUSWR THEN
BIT #CABLE+FRFD,SUSWR
BNE $77
; CAN'T TEST WITHOUT BERG OR H315
; OR WITH (=FR) JUMPER 0OUT.
EXIT TST
MOV #1,8TIMES
BR TST24 ;::EXIT THIS TEST
ENDIF
$77:
JNO INTERRUPTS
MOV #PR6,-(SP) ::PUT NEW PS ON STACK
MOV #64% ,-(SP) ::PUT NEW PC ON STACK
RT1] :;POP NEW PC AND PS
64S:
;START OFF WITH EVERYTHING CLEAR
BGNSUB
MOV #65% ,$LPERR
;CLEAR RING
LET @aRCSR := @aRCSR CLR.BY #REQSEND
BIC #REQSEND,3RCSR
SWAIT 1 MILLI-SEC FOR CABLE
WAITMS 1
MOV RS,=-(SP)
MOV #1,=(RS)
JSR PC,WALT
MOV (SP)+,RS
JREAD ONCE
LET R3 := SRCSR
MOV aRCSR,R3
;READ TWICE
IF #DATAINT SETIN QRCSR THEN
BIT #DATAINT ,aRCSR
BEQ $100
JREADING RCSR DID NOT CLEAR DATAINT
ERRHRD 65, EDATAINT
ERROR 65
ENDIF
$100:
ENDSUB

™~ B
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CNDVAA . P11 16-DEC~82 15:12 123 TEST THAT DATAINT SETS WHEN RING SETS SEG 0063
10188 H SET RING ==~> SET DATAINT
10189 005260 BGNSUB
10{36 005260 012767 005266 173622 MoV #6468, SLPERR
10191 ;WE _ARE SETTING RING
10192 ; SET RING
10193 005266 LET dRCSR := aRCSR SET.BY #REQSEND
(7) 005266 052777 000004 173764 BIS #REQSEND ,aRCSR
10194 ;WAIT 1 MILLI-SEC FOR CABLE
10195 005274 WAITMS 1
(4) 005274 010546 MOV R5,=(SP)
(5) 005276 012745 000001 MOV #1,-(RS)
(4) 005302 004767 004440 JSR PC,.WAIT
(4) 005306 012605 MOV (SP)+,RS
10196 005310 IF #DATAINT NOTSETIN aRCSR THEN
(6) 005310 032777 100000 173742 BIT #DATAINT ,3RCSR
(9) 005316 001001 BNE $101
10197 :SETTING RING DID NOT SET DATAINT
10198 005320 ERRHRD 122,, EZDATA
(1) 005320 104122 ERROR 122
10199 005322 ENDIF
(4) 005322 $101:
}858? 005322 ENDSUB
10202 ;CLEAR RING CAUSES NO CHANGE IN DATAINT (CLEAR)
10203 005322 BGNSUB
10532 005322 012767 005330 173560 MOV #64S ,SLPERR
10205 :CLEAR RING
10206 005330 LET dRCSR := SRCSR CLR.BY #REQSEND
(7) 005330 042777 000004 173722 BIC #REQSEND ,aRCSR
10207 :WAIT 1 MILLI-SEC FOR CABLE
10208 005336 WAITMS 1
(4) 005336 010545 MOV RS,=(SP)
(5) 005340 012745 000001 MOV #1,-(RS)
(4) 005344 004767 004376 JSR PC,WAIT
(4) 005350 012605 MoV (SP)+,R5
10209 005352 IF #DATAINT SETIN QRCSR THEN
(6) 005352 032777 100000 173700 BIT #DATAINT ,aRCSR
(9) 005360 001407 BEQ $102
10210 sCLEARING RING SET DATAINT
10211 005362 ERRHRD 123, CLRRNG
(1) 005362 104123 ERROR 123
10212 005364 ENDIF
(4) 005364 $102:
10213 005364 ENDSUB
10214 005364 EXIT :SKIP AROUND MESSAGE
(3) 005364 000400 BR TST24 JosEXIT ThIS TEST
10215 005366 ENDTST
10216
10217
10218
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123 TEST THAT DATAINT SETS WHEN RING SETS SEQ 0064
R T T T LT R T Y
;;ttittti'tttttt*ﬁiii'iQ"i't.i'.tt"ﬁﬁtitQ'Q**Q*t‘ti*tt*t'ﬁ**tﬁt
JeTEST 24 TEST THAT DATAINT SETS WHEN SECREC CHANGES STATE
:'t't't*ttt**!tittttf*t'tt**tit*tittttt**ttQiiitt*ti*ttiittt*iiit
TST24: SCOPE
MOV #10,$TIMES ::00 10 JTERATIONS
MOV #24 ,8TESTN JsSET TEST NUMBER IN APT MAIL BOX
: CAN WE USE THE WRAPAROUND??
IF #CABLE NOTSETIN SUSWR THEN
BIT #CABLE , SUSWR
BNE $103
: CAN'T TEST WITHOUT BERG OR H315.
EXIT TST
MOV #1,8TIMES
BR TST25 :22EXIT THIS TESTY
ENDIF
$103:
;NO INTERRUPTS
MOV #PR6,~-(SP) ::PUT NEW PS ON STACK
MOV #6498 ,-(SP) J:PUT NEW PC ON STACK
RTI ;:POP NEW PC AND PS
64%:
:START FRESH
;CLEAR SECREC
LETY @RCSR := aRCSR CLR.BY #SECXMIT
8IC #SECXMIT,aRCSR
- LET R3 := aR(CSR
MOV aRCSR,RS
;SET SECREC ==> DATAINT SET
BGNSUB
MOV #65% ,$LPERR
:SET SECREC
LET dRCSR := @RCSR SET.BY #SECXMIT
BIS #SECXMIT,aRCSR
JWAIT 1 MILLI-SEC FOR CABLE
WAITMS 1
MOV RS,=(SP)
MOV #1,~(RS)
JSR PC,WAIT
MOV (SP)+,RS
IF #DATAINT NOTSETIN BRCSR THEN
BIT #DATAINT ,aRCSR
BNE $104
;SETTING SECREC DID NOT SET DATAINT
ERRHRD 126,, E2DATA
ERROR 124
ENDIF
$104:

ENDSUB

™8
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$105:

MOV

BIC

MOV
MOV
JSR
MOV

BIT
BNE

ERROR

N 5
2 15:13 PAGE 176-1
TEST THAT DATAINT SETS WHEN SECREC CHANGES STATE

;CLEAR SECREC =-=> DATAINT SET

#6468, SLPERR

#SECXMIT ,aRCSR

R5,=(SP)
#1,~(RS5)
PC,WAIT

(SP)+,RS

#DATAINT ,aRCSR
$105

125

- s IF

BGNSUB

;CLEAR SECREC
LET aRCSR := @RCSR CLR.BY #SECXMIT

;WAIT 1 MILLI-SEC FOR CABLE
WAITMS 1

#DATAINT NOTSETIN aRCSR THEN

SEQ 0065

;CLEARING SECREC DID NOT SET DATAINT

ERRHRD 125,, EZ2DATA
ENDIF

ENUSUB
ENDTST

g
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15:13  PAGE 177
TEST THAT DATAINT SETS WHEN SECREC CHANGES STATE

SEQ 0066

::**'tttt'tt"ttt'tt"'tiittttitttttitttttttttiittttt"tttttit"'
S 1232320232222 0dR R 2R R0 20l R0 2 RRdddl Rl adRtd)d)

TEST THAT XMIT RDY = TCSR 7 - CLEARS
WHFN TBUF IS LOADED WITH A CHARACTER
AND THAT IT SETS WITHIN A REASONABLE AMOUNT OF TIME.

TCTEST 25
o

;t
t§725: SCOPE

MOV
MoV

BIT
BEQ

Mov
BR

$106:
MOV

CLRB

MoV
MOV
MOV
MOV
MOV
JSR
MoV

BCC

ERROR
$107:

Mov

#1,$TIMES
#25 . STESTN

S AL TAEE2 2220200002 R RRAR R 0220 dddRdR R 00R0 0200020 dd ]

;:D0 1 ITERATION
+.SET TEST NUMBER IN APT MAIL BOX

; THIS TEST IS 'BREAK OR HALT' SINSATIVE.

#APTENV, SENV
$106

#1,$TIMES
TST26

#64S ,SLPERR

IF W#APTENV SETIN SENV THEN

EXIT TEST

EXIT THIS TEST
IF

BGNSUB

; LOAD TBUF WITH ONE CHARACTER

; WALIT FOR READY TO SET

; (SHOULD BE VERY SHORT WAIT

; SINCE UART DOUBLE BUFFERS ITS INPUT)

aT8UF

RS,=-(SP)
#SET,=(RS)
TCSR.=(RS)
#XMITRDY - (RS)
#500, - (RS)
PC.TIMER

(SP)+ RS

$107

66

#6485, SLPERR

:SEND A CHARACTER
LET QTBUF :B= #0

WAIT A MAXIMUM
;OF 50 MSEC FOR

sXMIT RDY TO SET IN TCSR
CALL TIMER IN <#500,#XMITRDY,TCSR,#SET>

;TIMER RETURNS AN ERROR [F BIY DID
:NOT MEET CONDITION WITHIN TIME LIMIT
[F .ERROR THEN

:XMIT RDY DID NOT SET IN T(CSR
ERRHRD 66, ,DIDNOT

ENDIF
ENDSUB
BGNSUB

; LOAD TBUF WITH A SECOND CHARACTER
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MAINDEC~22~CNDVA=A MACY11 30(1046) 1
CNDVAA.F11 16-DEC-82 15:12 T2S TEST THAT XMIT RDY = TCSR 7 - CLEARS SEQ 0067
10325 : CHECK IMMEDIATELY THAT XMITRDY IS CLEAR
}gggg : AND THEN WAIT FOR IT TO SET
10328 :SEND SECOND CHARACTER
10329 005666 LET STBUF :B= #0
(&) 005666 105077 173376 CLR8  aTBUF
10330 005672 000240 NOP ; GIVE IT TIME TO CLEAR
10331 : XMITRDY SHOULD HAVE CLEARED UPON
10332 * RECEIPT OF A CHARACTER
10333 005674 IF #XMITRDY SETIN aTCSR THEN
(6) 005674 032777 000200 173362 BIT #XMITRDY,aTCSR
(9) 005702 001401 BEQ $110
10334 ; XMITRDY DID NOT CLEAR IN T(CSR
10335 0057064 ERRHRD 67, ,DIDNOT
(1) 005704 104067 ERROR 67
10336 005706 ENDIF
(&) 005706 $110:
10337
10338 ;WAIT A MAXIMUM
10339 :0F S0 MSEC FOR
10340 JXMIT RDY TO SET IN TCSR
10341 005706 CALL TIMER IN <#500,#XMITRDY,TCSR,#SET>
(3) 005706 €10546 MOV RS, =(SP)
(7) 005710 012745 177777 MOV #SET,=(R5)
(6) 005714 016745 173344 MOV TCSR.=(R5)
(5) 005720 012745 000200 MOV #XMITRDY .= (RS)
(&) 005724 012745 000500 MOV #500,~(RS)
(3) 005730 004767 003534 JSR PC, TIMER
(3) 005734 012605 MOV (SP)+,RS
10342 005736 IF .ERROR THEN
(6) 005736 103001 BCC $111
10343 ;XMIT RDY DID NOT SET IN TCSR
10344 005740 ERRHRD 70, ,DIDNOT
(1) 005740 104070 ERROR 70
10345 005742 ENDIF
(4) 005742 $111:
10346 005742 ENDSUB

10347 005742 ENDTST
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CNDVAA.F11 16-DEC~82 15:12 125 TEST THAT XMIT RDY = TCSR 7 = CLEARS SEQ 0068
10349
10354 JINRAN AR AR AN AR N RN RN TR RO TR AR R AR R AN R AN PN AN AN AR ERRRCACRRERAS
10359 PN R RN R AN RN R PR RN AP PR R RN N RN RN RN AR RN R AN E RN AR AR RS
(3) ;*TEST 26 TEST THAT OQUTPUTTING A CHAR FROM TBUF (WITH MAINT SET)
(4) o RESULTS IN RCVRDONE SETTING WITnIN A REASONABLE AMOUNT OF TIME
(&) o AND THAT RESET CLEARS THE BIT.
%) IR AR RN RN AR AN T RN RN R R TR R RN AR R R AR AN R RR AN ENRC IR RGN RS
é%; 005742 000004 TST26: SCOPE
(1) 005744 012767 9D00010 173206 MOV #10,8TIMES ::D0 10 ITERATIONS
10§gz 005752 012767 000026 173220 MOV #26,8TESTN JsSET TEST NUMBER IN APT MAIL BOX
10365 : SET THE MAINTENANCE BIT
10366 005760 LET Q9TCSR := QTCSR SET.BY #MAINT
10§g; 005760 052777 000004 173276 BIS #MAINT ,3TCSR
10368 005766 8GNSUB
(5) 005766 012767 005776 173114 MOV #6468 ,SLPERR
}8%93 : SEND A CHARACTER AND LET IT WRAP AROUND
10371 005774 LET aTBUF :B= #0
10§?5 005774 105077 173270 (LRB a TBUF
10373 : WAIT A MAXIMUM OF S0 MSEC
10374 s FOR RCVR DONE TO SET IN
10375 ; RCSR
10376 006000 CALL TIMER IN <#500,#RCVRDONE ,RCSR,#SET>
(3) 006000 010546 MCV RS,~(SP)
(7) 006002 012745 177777 MoV #SET,=(RS)
(6) 006006 016745 173246 MOV RCSR,=(R5)
(5) 006012 012745 000200 MOV #RCVRDONE ,~(RS)
(4) 006016 012745 000500 MOV #500,-(R5)
(3) 006022 004767 003442 JSR PC.TIMER
10§;; 006026 012605 MOV (SP)+,RS
10378 sDIDN'T SET IN TIME
10379 006030 1F .ERROR THEN
(6) 006030 103001 BCC $112
10380 ; RCVRDONE DID NOT SET IN RCSR
10381 006032 ERRERD 71,,DIDNOT
(1) 006032 104071 ERROR ™
10382 006034 ENDIF
(4) 006034 $112:
10383
10384 006034 ENDSUB
10385
10386 006034 BGNSUB
(5) 006034 012767 006042 173046 MOV #6495, 5L PERR
10387 ; NOW THAT 1T IS SET SEE IF IT CAN BE RESET
10388 s THIS ALSO WILL CLEAR THE MAINT. BIT
10389 006042 BRESET
10§36 006042 000005 RESET
10391 006044 IF #RCVRDONE SETIN aRCSR THEN
(6) 006044 032777 000200 173206 BIT #RCVRDONE ,aR(SR
(9) 006052 001401 BEQ $113
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TEST THAT QUTPUTTING A CHAR FROM TBUF (WITH MAINT SET)

72

. RCVRDONE DID NOT RESET IN RCSR.
ERRHRD 72,,DIDNOT

ENDIF

ENDSUB
ENDTST

SEQ 0069
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CNOVAA . F11 16-DEC~82 15:12 TEST THAT OUTPUTTING A CHAR FROM TBUF (WITH MAINT SET) SEQ 0070
10398
10403 IR NN AN RN RN NN RO RN RN RN AR RN N E RN OARN O RO RERAEN NS
10604 DI IR AR RN R A PR R AR AN RN RN NP AN NN TR R AR ERNOES
(3) :«TEST 27 TEST THAT RCVRDONE 1S CLEARED BY READING RBUF
(%) PN R AR AR R R AT PR R RN AN O RN AR R R AR NI RN SRR RN
é%; 006056 000004 TST27: SCOPE
(1) 006060 012767 000010 173072 MOV #10,8TIMES ;:D0 10 ITERATIONS
1028% 006066 012767 000027 1731064 MOV #27,8TESTN ;sSET TEST NUMBER IN APT MAIL B8OX
10410 ; SET MAINT, BIT
10611 006074 . LET aTCSR := aT(SR SET.BY #MAINT
(7) 006074 052777 000004 173162 81S #MAINT ,aTCSR
10612 006102 B8GNSUB
(5) 006102 012767 006110 173000 MOV #64$,SLPERR
10413 ; OUTPUT A CHARACTER WITH MAINTENANCE
}82}? ; SET, AND WAIT FOR XMITRDY TO SET.
10416 ;2 OUTPUT A (CHARACTER
10617 006110 LET aTBUF :B= #0
(4) 006110 105077 173154 CLRB o TBUF
10418 ; WAIT MAXIMUM OF 500 MSEC
10419 ; FOR RCVRDONE TO SET IN
10420 : RCSR
10421 006114 CALL TIMER [N <#500,#RCVRDONE ,RCSR,#SET>
(3) 006114 010546 MOV RS5,~(SP)
(7)Y 006116 0127245 177777 MOV #SEY ,-(RS)
(6) 006122 016745 173132 MCV RCSR,~(RS)
(5) 006126 012745 000200 MOV #RCVRDONE ,=(R5)
(4) 006132 012745 000500 MOV #500,<~(RS)
(3) 006136 004767 003326 JSR PC,TIMER
(3) 006142 012605 MOV (SP)+ RS
104622 : DID IT BECAME READY?
10423 006144 IF .ERROR THEN
(6) 006144 103001 8(C(C $114
10424 ) JRCVRDONE DID NOT SET IN RCSR
10425 006146 ERRHRD 73,, DIDNOT
(1) 006146 104073 ERROR 73
10426 006150 ENDIF
(4) 006150 $114:
10427 006150 ENDSUB
10428
10429 s NOW THAT IT IS SET LETS SEE IF READING THE
}82;? ; BUFFER CLEARS RCVRDONE.
10432 .READ BUFFER
10433 006150 LET RO :B8= aRBUf
102%2 006150 117700 173106 MOVB aRBUF ,RO
10435 006154 IF #RCVRDONE SETIN QRCSR THEN
(6) 006154 032777 000200 173076 BIT #RCVRDONE ,aR(CSR
(9) 006162 001401 BEQ $115
10436 sRCVRDONE DID NOT CLEAR IN R(CSR
10637 006164 ERRHRD 74,DIDNOT

(1) 006164 104074 ERROR 74
10438 006166 ENDIF
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CNDVAA . F11 16-DEC-82 15:12 127 TEST THAT RCVRDONE IS CLEARED BY READING RBUF SEQ 0071

(4) 006166 $115:
106439 006166 ENDTST
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006166

006170
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(9) 006212
006214
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105077

032777
001403

012700
000401

005201

020027
001403

HAC¥11 30(1046)

15:12

000010
000030

000001

000001

000004
000000

173024

004000

177777

177777
000124

000116

172762
172774

173002

172736

173032

173006

H
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127 TEST THAT RCVROONE [S CLEARED BY READING RBUF
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TeTEST 30 TEST THAT RCVRACT = RCSR 11 = SETS

i WHEN A STARY BIT IS RECEIVED_AND

A CLEARS WHEN RCVRDONE = R(SR 7 = SETS

R i R L L L L T T e T e T e T R L S R e R AR
1ST30: SCOPE

MOV #10,8TIMES ::D0 10 ITERATIONS
MOV #30,$TESTN ;sSET TEST NUMBER IN APT MAIL BOX

; THIS TEST IS °'BREAK OR HALT® SINSATIVE.
IF #APTENV SETIN SEMV THEN

8IT #APTENV,SENV
BEQ $116
EXIT TEST
MOV #,STIMES
BR TST3 $32EXIT THIS TEST
ENDIF
$116:
LET @TCS® := aTCSR SET.BY #MAINT
BIS #MAINT ,aTCSR
LEYT RO := #CLR
MOV #CLR,RO
LET R1 := #0
CLR R1
:LOAD A CHARACTER INTO TBUF
:WAIT FOR RCVRACT TO SET
JSEND A CHARACTER
LET aTBUF :8= #0
CLRB aTBUF
REPEAT
$117:
If #RCVRACT SETIN aRCSR THEN
8IT #RCVRACT ,aRCSR
BEQ $120
LET RO := #SET
MOV #SET RO
ELSE
BR $121
$120:
LET R1T := R1 «+ M
INC R1
ENDIF
$121:
UNTIL RO EQ #SET OR R1 HI MAX
CMP RO, #SET
BEQ $122
CMP R1,MAX
BLOS $117
$122:

IF R1 HI MAX THEN
(MP R, MAX
BLOS  $123

SEQ 0072
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CNDVAA.F11 16=-DEC-82 15:12 730 TEST THAT RCVRACT = RCSR 11 - SETS SEQ 0073

10477 ;1T NEVER SET
10478 :RCVRACT DID NOT SET [N RCSR.
10479 006306 ERRHRD 75,, DIDNOT
(1) 006306 104075 ERROR 75
10480 006310 LET RO := aRBUF ; CLEAR BUFFER
(4) 006310 017700 172746 MOV aRBUF ,RO
10481 006314 EXIT TEST
(3) 006314 012767 000001 172636 MOV #1,$TIMES
(3) 006322 000440 BR TSTH sssEXIT THIS TEST
10482 006324 ENDIF
(4) 006324 $123:

10485 sCHECK FOR TIMING OF RCVRACT. CLEARING
10486 :VS RCVRDONE SETTING

10489 006324 WHILE #RCVRACT SETIN aRCSR DO
(4) 006324 $124:
(6) 006324 032777 004000 172726 BIT #RCVRACT ,aRCSR
(9) 006332 001416 BEQ $125

10491 006334 IF #RCVRDONE SETIN QRCSR THEN
(6) 006334 032777 000200 172716 BIT #RCVRDONE ,aRCSR
(9) 006342 001411 BEQ $126
10492 006344
(6) 006344 032777 004000 172706 BIT #RCVRACT,aRCSR
‘ (9) 006352 001405 BEQ $127
10493 :RCVRDONE AND RCVRACT
10494 :BOTH SET
10495 006354 ERRHRD 76, DONEACT
(1) 006354 104076 ERROR 76
10496 sNO USE CONTINUING
10497 006356 EXIT TST
(5) 006356 012767 000001 172574 MOV #1,S$TIMES
(3) 006364 000417 BR TST31 sosEXIT THIS TEST
10498 006366 ENDIF
(4) 006366 $:27:
10499 006366 ENDIF
(4) 006366 $126:
10500 006366 ENDDO
(4) 006366 000756 BR $124
(3) 006370 $125:

10502 sRCVRACT = 0 NCW.
10503 006370 IF #RCVRDONE NOTSETIN @RCSR THEN
(6) 006370 032777 000200 172662 BIT #RCVRDONE ,aRCSR
(9) 006376 001001 BNE $130
10504 :RCVRDONE DID NOT SET IN RCSR
12505 006400 ERRHRD 77,,DIDNOT
(1) 006400 104077 ERROR 77
10506 SSET [T BACK.
16507 006402 ENDIF
(4) 006402 $130:
10508 ;TEST THAT READING THE RECEIVER
10509 ;BUFFER CLEARS RCVRDONE

IF #RCVRACT SETIN IRCSR THEN



MAINDEC=22=-CNDVA=A MACY11 30(1046)

CNDVAA.F11

10510
10511
10512
10513

(&)
10514
10515

—
o

- d b e b
OD00 OO

[V LV RV, TV, PRV, IV, PNV, PN
PORNORIAIIAIND — £ P b
W =2 OO 00

006402
006402

006406
006406
006414

006416
006416
006420
006420

006429
006420
006422

006424

1
16-DEC~82 15:12 T3

017700 172654
032777 000200 172644
001401
104100
$131:

000401
070000

J_ 6
8-05(-82 15:13 PAGE 180-2

TEST THAT RCVRACT = RCSR 11 - SETS

MOV aRBUF ,RO

BIT #RCVRDONE ,aRCSR
$131

ERROR 100
BR TST31
MAX:70000

sREAD CHAR.
LET RO := aRBUF

IF #RCVRDONE SETIN @RCSR THEN
:RCVRDONE DID NOT CLEAR IN RCSR
ERRHRD 1G0,,DIDNOT

ENDIF

EXIT
JJEXIT THIS TEST

ENDTST

SEQ 0074




MAINDEC~-22~-(NDVA=A
CNDVAA.F11

10526

[ Y

OO0
[V R, T N a1 V21Y,1V, |
£ NN NN = NN W NN NN
O~ V0D~ = o wr s o (NP =

—hod d ek b
OO0 OO0

o000 OO
A ANV A VAR A O TA ANV A AN

(VIIV To Yo Yo W Ys SV, 1Ve Yo NV IV, IV P SV IV V. P W AV F SV 1V, |
W NN 2w OO w QO NONw NS N v e ) =

ad b b and wd

b
o
~ N
HON
~ b

10565

006424

006426
006434

006442
006442

006450
006450

006454
006454
006456
006462
006466

006470
006470

006474
006474
006476
006502
006506

006510
006510

006514
006514
006520

006522
006522

006524
006524
006532
006534
006534
006534

16-DEC~82

000004

012767
012767

012767

105077

010546
012745
004767
012605

105077

010546
012745
004767
012605

017704

032704

001005

104101

012767
000456

MACY1T
15:12

000010
000031

006450

172614

000310
003260

172574
000310

003240

172546

040000

000001

1 30(1046)

172524
172536

172440

172426

16-DEC-
730
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TEST THAT RCVRACT = RCSR 11 - SETS

-l

A 2222222228222 R0 a0 2222 20 2 2R 200 000t idRititRRRdRRldd ]

seTEST 31

WSS 2222222220322 222200RRRR 2V 2222220000200 0RAdRRdRRRRRRRRRRRRRR]]

7ST31:

$132:

SCOPE

MOV
MOV

MOV

CLRB

MOV
MOV
JSR
MOV

CLRB

MOV
MOV
JSR
MOV

MOV

BIT

BNE

ERROR

MOV
BR

TEST THE OVERRUN BIT = RBUF 14

#10,STIMES 2:D0 10 ITERATIONS

#31,8TESTN ;;SET TEST NUMBER IN APT MAIL BOX
BGNSUB

#6485, SLPERR

;OUTPUT 2 CHARACTERS WITH
sAMPLE DELAYS BETWEEN FOR RECEPTION.
:THIS SHOULD AN CAUSE OVERRUN ERROR.

:OUTPUT 1 CHARACTER
LET aTBUF :B= #0

aTBUF
;GO AWAY FOR 200. M SEC
WAITMS 200.
RS,-(SP)
#200.,-(RS)
PC,WAIT
(SP)+ RS
:OUTPUT 2ND CHARACTER
LET 3TBUF :B= #0
aTBUF
:LET OVERRUN HAPPEN
WAITMS 200.
RS ,=-(SP)
#200.,-(RS)
PC,WAIT
(SP)+,RS
:READ BUFFER AND ERROR BITS
LET R4 := aRBUF
aRBUF , R4
;IT DIDN'T SET
IF #ORERR NOTSETIN R4 THEN
HORERR, R&
$132
:ORERR DID NOT SET IN RBUF
ERRHRD 101,,DIDNOT
101
:NO USE COMPOUNDING ERRORS
EXIT TST
#1,8TIMES
15132 ;ssEXIT THIS TEST
ENDIF

ENDSUB

SEQ 0075
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10566

006534
006534
006542
006542
006546

006550
006550

006552
006552
006560
006562
006562
006562

006562
006562

006570
006570
006576

006600
006600

006602
006602
006604
006604
006604

006604
006604

006612
006612

006616
006616
006620
006624
006630

006632
006632
006640

16-DEC~82

012767

032704
001005

104102

012767
000443

012767

032777
001002

104103

000432

012767

006542
100000

000001

006570

040000

006612

172452
000310
003116

040000

1 30(1046)

172346

172400

172320

172464

172°74

172422

1
T3

$133:

$134:

L 6
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TEST THE OVERRUN BIT =~ RBUF 14

MoV

BIT
BNE

ERROR

MOV
BR

MCv

CLRB

MOV
MoV
JSR
MOV

BIT
B

:NOW SEE IF ERROR BIT SET WITH OVERRUN ERROR:
BGNSUB

#64$ ,$LPERR

#ERROR, R4
$133

102

#1,8$TIMES
TST32

#64%,SLPERR
sCHECK REAL

#0RERR,aRBUF
$134

103

TST32

#64$,SLPERR
:NOW SEE IF

aTBUF

RS ,=(SP)
#200.,-(RS)
PC,WAIT
(SP)+,RS

#ORERR ,aRBUF
$135

IF #ERROR NOTSETIN R4 THEN

:ERROR DID NOT SET IN RBUF
ERRHRD 102, .DIDNOT

;=WHEN ORERR SET.
:GET OUT NOW.
EXIT TST

s EXIT THIS TEST
ENDIF

ENDSUB
BGNSUB
RBUF TO SEE IF ORERR IS STILL SET.
IF #ORERR NOTSETIN aRBUF THEN

;READING RBUF CLEARED ORERR.

ERRHRD 103,ITCLRED
:SKIP REST OF TEST

EXIT
;2 EXIT THIS TEST
ENDIF

ENDSUB
BGNSUB
THEY CLEAR WHEN ANOTHER CHAR. IS RECEIVED

:SEND A CHARACTER AROUND.
LET aTBUF :B8= #0

;LET IT CIRCULATE
WAITMS 200.

IF #ORERR SETIN aRBUF THEN

SEQ 0076
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10601
10602

1)
10603
10604
10605
10606

(9)

i e T Y
000 OO0 OO0 OO
oA ~AONON~AONO
P W P e o e o i ]
OO NO NS NN~ = O

006642
006642

006644
006644
006652
006654
006654

006654
006654
006662

006664
006664

006666
006666
006666
006666
006666

006670

MACY11 30(1046)

16-DEC-82 15:12

106104

012767
000406

032777
001401

104105

000400

000001

100000

172306

172400

1
31

$135:

$136:

M_6
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TEST THE OVERRUN BIT = RBUF 14

ERROR

MOV
BR

BIT
BEQ

ERROR

8R

104

#1,8TIMES
TS132

#ERROR ,aRBUF
$136

105

TST32

:ORERR DID NOT CiLEAR IN RBUF
ERRHRD 104,,DIDNOT

;=AFTER RECEIVING ANOTHER CHAR
:SKIP _AROUND REST
EXIT TST

;o EXIT THIS TEST
ENDIF
IF #ERROR SETIN QRBUF THEN

:ERROR DID NOT CLEAR IN RBUF
ERRHRD 105, ,DIDNOT

ENDIF
ENDSUB

EXIT
s+ cEXIT THIS TEST

SEQ 0077
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10620
10621
10626
10632
(3)
(4)
(4)

”~
o~
b

p—y Y
O o O A N e~

WANWOOMAN = NINOW
(R, LR ENITE A AT A

-

o
~O
S
~ 0

10640
10641
(6)
(9)
10642
(5)
(3)
10643
(4)
10644
10645

10646
(4)
10647
(7)
10648
10649
(4)
(5)
(4)
(8)
(5)
(5)
(7)
10650
(4)
10651
10652

10653
10654

(4)
10655
10656

006670

006672
006700
006706
006706
006714
006716
006716
006724
006726
006726

006726
006726
006734
006736
006736
006744
006746
0v6740

006746
006746
006754
006754
006762
006762

006770
006770
006772
006774
006774
006776
006776
007002
00700C4
007004

007010
007010

007016
007016

007020

16-DEC-82

000004

012767
012767

032767
001004

012767
000552

032767
001404

012767
000542

012767
012767
052777
o5
005203
020327
003060
017700
116377

005002

CY11 30€1066)

112

000010
000032
000200

000001

000001

000001

177777
177777
000004

000017

172252

007170

172260
172272
172304

172234

172260

172214

000272
000266
172274

172250

1
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TEST THE OVERRUN BIT = RBUF 14
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tttttttﬁtt'*tﬁ*tt*tttti'tf!tftttt*tiiti'iittiiitttt*titﬁ."i.*'

tTEST 32

$137:

$140:

$142:
$141:

SCOPE

MOV
MOV

BIT
BNE

MOV
BR

BIT
BEQ

MOV
BR

MOV
MoV
BIS
g
INC
g
MOV
MovB

CLR

PROGRAMMABLE BAUD RATE TEST

TEST AT ALL SPEEDS AVAILABLE

A COMPARISON WILL BE MADE TO SEE
IF NEW TIME 1S LESS THAN PREVIOUS.

R S i 222 2212222232322 2222323322382 2322 Rdd2ddRRdlddlilddl)

#10,8TIMES ::D0 10 ITERATIONS
#32,8TESTN ;:SET TEST NUMBER IN APT MAIL BOX
IF #PBR NOTSETIN $USWR THEN
#PBR,SUSWR
$137
EXIT TST
#1,8TIMES
TST33 J22EXIT THIS TEST
ENDIF

; THIS TEST IS "BREAK OR HALT' SINSATIVE.
1f #APTENV SCTIN SENV THEN

#APTENV,SENV
$140
EXIT TEST
#1,8TIMES
TST33 setEXIT THIS TEST
ENDIF
LET OLD := #-i
'-100LD
LET OLD+2 := #-1
#=-1,0LD+2
LET @TCSR := @TCSR SET.BY #MAINT
#MAINT,3TCSR
:EACH BAUD RATE
/3 INCR R3 FROM #0 TO #15. BY #1
$141
R3
R3,#15.
$143
LET RO := QRBUF
aRBUF ,RO
:CHANGE BAUDE RATE
LET @TCSRHI :B= RATES(R3)
RATES(R3) ,aTCSRHI
JFLAG
LET BIT := #0
BIT

:OUTPUT THE CHARACTER
LET QTBUF := #0

SEQ 0078
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CNOVAA

(4)
10657
10658

(&)
10659

(&)
10660

(&)

(6)

(9}
10661

(6)

(9)
10662
10663

(4)
10664

(4)

(3)
10665
10666

(7)
10667

(7)
10668

(&)
10669
10670

(4)

(3)
10671
10672

(6)

(9)
10673
10674

(4)

(3)
10675
10676

(6)

(9)

F11
007020

007024
007024
007030
007030
007034
007034
007034
007036
007040
007040
007046

007050
007050
007054
007054
007056

007056
007056
007062
007062
007066
007066

007066
007066
007070

007070
007070
007076

007100
007100
007102

007102
007102
007110
007112
007120

007122
007122
007124

007124
007124
007126
007126

16-DEC-82
005077

005067
005067
005702
001014
032777
001403
012702
000404

005267
005567

000762

026767
103001

000412

026767
001005
026767
103001

000401

104126

MACY11 30(1046)

15:12
172244

000212
000210

000200 172212

000001

000160
000156

000150 000152

000136 000140
000124 000126

16
132

$144:

$146:

$147:

$145:

$°50:

$152:

$153:

-DEC-82

B 7
15:13 PAGE 182-1

PROGRAMMABLE BAUD RATE TEST

CLR

(LR
CLR
TST
BNE
BIT
fEQ
MOV
BR

INC
AD(

ER

CMP
BHIS

BR

(MP
BNE
CMP
BHIS

BR

ERROR

o TBUF

NEW
NEW+?

[
1

BIT
$145
#RCVRDONE ,aRCSR
$146

#1.,817

$3147

NEW
NEWe2

$144

NEW+2,0LD+2
$150

$151

NEW+2,0LD+2
$152

NEW,OLD
$150

$153

126

SEQ 0079

JINITIALIZE COUNTER
LET NEW := #0

LET NEW+2 := #0
WHILE BIT EQ #0 DO

[f #RCVRDONE SETIN aR(SR THEN

;DONE -

ITS READY
LET B!

T := M
ELSE
L T
LET NEW+2 := NEW+Z2 + CARRY
ENDIF

: SIGNALS DONE
ENDDO

[F NEW+2 LO OLD+2 THEN

; 0K
ELSE

: NEW+2 >= OLD+?2
IF NEW+2 EQ OLD+2 AND NEW LO OLD THEN

;NEW+2 > OLD+2 OR
:(NEW+2 = OLD+2 AND

¢ NEW >= OLD)

:BAUD RATE DIDN'T CHANGE
ERRHRMN 12€ BAUDRATE

ENDIF
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CNDVAA.P11 16=DEC~82 15:12 132 PROGRAMMABLE BAUD RATE TEST SEQ 0080
10685 007126 ENDIF
(4) 007126 $151:
10686 :UPDATE OLD TIME
10687 007126 LET OLD := NEW
(&) 007726 016767 000110 000112 MCV NEW,OLD
10688 007134 LET OLD+2 := NEW+2
1oé§3 007134 016767 000104 000106 MOV NEW+2,0LD+2
10690 007142 ENDINC ;BAUD RATE
(4) 007142 000714 BR $142
(3) 007144 $143:
10691 007144 LET R3 :B= SUSWR+1 AND #17 : PUT BAUD BACK
(4) 007144 116703 172051 MOVB  SUSWR+1,R3
(7) 007150 110346 MOVB  R3,-(SP)
(7) 007152 1427 16 000017 BICB  #17,(SP)
(7) 007156 142603 BICB (SP)+,R3
10692 007160 LET @TCSRHI :B= RATES(R3) ; LIKE HE WANTED IT
1oe§3§ 007160 116377 007170 172100 MOVB  RATES(R3),aTCSRHI
10696 007166 EXIT :SKIP TABLE
1oég§ 007166 000431 BR TST33 2o:EXIT THIS TEST
10696 007170 RATES: ;A TABLE OF THE ACTUAL BYTES TO MOVE INTO THE
10697 :UPPER BYTE OF XCSR FOR EACH BAUD RATE
10698 iae NOTE:: THE VALUE INDICATED IN THE COLUMN "OFFSET
10699 e INTO TABLE' CAN BE PLACED INTO BITS<11:8>
10700 T OF LOCATION ‘$USWR' TO CAUSE THE CORROSPONDING
10701 e BAUD TO BE SELECTED IN THE DLV11-E UPON
18;8% L COMPLETION OF THIS TEST.
10704 ; BAUD  OFFSET INTO TABLE
10705 007170 010 RO050: .BYTE 010 ; 50 0
10706 007171 030 RO070: .BYTE 030 ; 70 1
10707 007172 050 RO110: .BYTE 050 ; 110 2
10708 007173 070 RO135: .BYTE 070 ; 135 3
10709 007174 110 R0O150: .BYTE 110 ; 150 4
10710 007175 130 RO300: .BYTE 130 ; 300 5
10711 007176 150 RO600: .BYTE 150 ; 600 é
10712 007177 170 R0200: .BYTE 170 : 1200 7
10713 007200 210 R1800: .BYTE 210 ; 1800 10
10714 007201 230 R2000: .BYTE 230 ; 2000 11
10715 007202 250 R2400: .BYTE 250 ; 2600 12
10716 007203 270 R3600: .BYTE 270 ; 3600 13
10717 007204 310 R4800: .BYTE 310 ; 4800 14
10718 007205 330 R7200: .BYTE 330 : 7200 15
10719 007206 350 R9600: .BYTE 350 ; 9600 16
}8;59 007207 370 R10000: .BYTE 370 ; 19200 17
| 10722 007210 040502 042125 051040 BAUDRATE: LASCIZ /BAUD RATE DIDN®T CHANGE./
007216 052101 020105 044504
007224 047104 052047 041440
007232 040510 043516 027105
007240 000
10723 007242 .EVEN
10724 007242 000000 000000 NEW: 0.0

10725 007246 000000 000000 OLD: 0.0
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MAINDEC=22~-CNDVA-A MACYT1 30(1046) 16~

CNDVAA R 16~DEC~82 15:12 132 PROGRAMMABLE BAUD RATE TEST SEQ 0081
10726 007252 ENDTST

10727

10728

10729
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10731
10736
10744
(3)
(4)
(4)
(4)
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757
(5)
(5)
(5)
(5)
(5)
10758
(5)

10759 .

10760
(?)
10761
10766
10767
(1)
(1)
(1)
10772
10773
10774
(7)
10775
10776
10777
(4)
(5)
(4)
(4)
10778
10779
10780

007252

007254
007262

007270
007270

007274
007274

007300
007300

007304
007304
007306
007310
007314
(27320
007322
007322

007330
007330

007336
007342
007346
007350

007350
007350

007356
007356
007360
007364
007370

007372
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000004
012767
012767

005067

016703

062703

042777

012746
012746
000002

052777

010546
012745
004767
012605

0000

10
000033

002540

171756
000004
006300
007330
000100

000000
007350

000100

000310
002356

171676
171710

171560

171726

171706

E
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:;tttttt'tQtQt'Q'ti"""'i..""'i"tttl'Qtitit'..tt..'tt."'tti
A AARAAARA AR RARRARRdRRRR2 2R R0 2 220220022 dddRR 2]l

;+TEST 33 TRANSMITTER INTERRUPT LOGIC TEST
;¢ LOGICALLLY THIS IS & SEPARATE TESTS

;* A) DOES TRANSMITTER INTERRUPT LOGIC WORK
;* B) AT PRIORITY OF 0

s * C) AND ONLY ONCE

;v D) BUT NOT WITH INTERRUPT ENABLE CLEAR

S

A LSRR 2RdR 220200 222220002020 0d022) ] ] ]

TST33: SCOPE

MOV #10,STIMES :;D0_10 ITERATIONS
MOV #33,8TESTN :oSET TEST NUMBER [N APT MAIL BOX

sCLEAR °'INTERRUPT OCCURED' FLAG

LET INTFLAG := #0
CLR INTFLAG

:GET VECTOR ADDRESS

LET R3 := DLVEC
Mov DLVEC,R3

;FOR THE TRANSMITTER

LET R3 := R3 + #4
ADD #4,R3

SEQ 0082

:SET VECTOR TO POINT TO TRANS.SRV AT PRI

SETVEC R3, WINTSRV, #PR6
MOV R1,=(SP)
MCV R3.R1
MOV #INTSRV, (R1)+
MOV #PR6, (R1)
MOV (SP)+,R1

MoV #6468 ,SLPERR

BGNSUB

:CLEAR INTERRUPT ENABLE
LET Q@TCSR := @TCSR CLR.BY #XMITIE

BIC #XMITIE ,aTCSR

;SET IT T0 0
MOV #PRO,=(SP) :sPUT NEW PS ON STACK
MOV #65% ,-(SP) s;PUT NEW PC ON STACK
RTI :;POP NEW PC AND PS

65%:
:NOW SET ].E. BIT

LET QTCSR := QTCSR SET.BY #XMITIE

BIS #XMITIE ,@TCSR

;LET INTERRUPT HAVE TIME TO OCCUR

WAITMS 200.
MOV RS, =(SP)
MOV #200.,-(RS)
JSR PC,WALT
MOV (SP)+,RS

IF INTFLAG NE #1 THEN

DgE EXACTLY 1 INTERRUPT OCCUR
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